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1 A

The Textbook Society, Karnataka has been engaged in
producing new textbooks according to the new syllabi prepared
which in turn are designed based on NCF — 2005 since June 2010.
Textbooks are prepared in 11 languages; seven of them serve
the media of instruction. From standard 1 to 4 there is the EV
and 5™ to 10™ there are three core subjects, namely, mathematic
science and social science.

NCF - 2005 has a number of special features and they
e Connecting knowledge(to life activities.
e Learning to shift f ethods. '\

e Enriching the c thoo

e Learning ex t of knowledge.

e Making examinations flexible a rating them with
classro experiences.

e Cari within the atic policy of the country.

o Mz ion relevan thHeYpresent and future needs.

e Softenimg the subjec&)undaries integrated knowledge

and the joy of learming.
e The child if @tructor of knowledge.

The new books produced based on three fundamental
approaches, namely :

Construati % proach, Spiral Approach and Integrated Approach

The learnéris encouraged to think, engage in activities, master
skills and competencies. The materials presented in these books
e ed with values. The new books are not examination-

| in their nature. On the other hand they help the learner
c*total development of his/her personality, thus help him/
er become a healthy member of a healthy society and a productive
citizen of this great country, India.

In Social Science especially in Standard 5, the first chapter E’
deals with the historical, geographical, cultural and local study of :
the division in which learners live. A lot of additional information
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is given through box items. Learners are encouraged to work
towards construction of knowledge through assignments and
projects. Learning load of memorizing dates has been reduced to
the minimum. Life values have been integrated with content of
each chapter.

We live in an age of science and technology. During the pa
five decades man has achieved great things and realized his drea
and reached pinnacle of glory. He has produced everything to
life comfortable. In the same way he has given himself to pleagure
and reached the stage in which he seems to have forgott c
sciences. We hope that at least g, good number of youngjleanmners
take to science in higher studies and become leadi entists

S
and contribute their share t isting sto knowledge in
order to make life prosp A opportunit m een given
ss and les eir own with
earning is ed to be activity

to learners to think, r ,
centered with the 4dearners doing experi ssignments and
projects.

Mathematics 18, es$éntial in the % of various subjects and
in real lif 05 propose owing away from complete

very little help from
calculatio struction o& ework of concepts, relate

mathemati real life expegiences and cooperative learning.
Many students have a maths phobia and in order to help them
overcome this phohia, jo@bpuzzles, riddles, stories and games
have been include t ooks. Each concept is introduced
through an activity interesting story at the primary level.
The contributioi of at Indian mathematicians are mentioned

at appropriate s.
The Te Society expresses grateful thanks to the

chairper%ls; iters, scrutinisers, artists, staff of DIETs and CTEs
00,

R

and th mbers of the Editorial Board and printers in helping
06k Society in producing these textbooks.

of. G S Mudambadithaya Nagendra Kumar
: oordinator, Curriculum Revision Managing Director
_ and Textbook Preparation Karnataka Textbook Society(R.) d
i) Karnataka Textbook Society(R.) Bengaluru, Karnataka |
;! Bengaluru, Karnataka
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Chairperson speak....

This Sth standard Mathematics Text book is prepared according to the
revised syllabus based on NCF (2005). The basic feature highlighted in
NCF(2005) and seriously adopted in this textbook is that “ The child is the
constructor of her/his own knowledge”. A sincere attempt has been made
follow this principle and make mathematics learning a meaningful and joyfu
experience for children.

The focus in this text book is on experiential learning which is bas¢dio
both hands-on and minds-on activities. The emphasis is on,
e engaging students in higher order learning tasks,
e guiding students to explore mathématical facts, concep‘s, ralisations
and procedures,

e providing opportunities to s ss their newly construct as,
e encouraging students t £ aborate the/ide ing or applying
them in variety of situ@ati oblems relating 1 Tife situations.

Group activity e ing /co-operative le is the suggested
cting all the dmnitsyin this textbook. Every

unit begins with a aging/activity whic rete in nature. Teachers
can follow sugge es or plan and similar activities for specific
purposes.

Additiona ¢d information isfproyvided iw boxes titled “ Do you know?”

and thought'p Zing questions ifboxes titled “Think!”. It should be noted
that these two are not for tests and examinations.

Two new units are included in this text book. The purpose of the unit on

$to provide/good practice for mental calculations and
atical calculations in children. The unit on
mber patterns and geometrical patterns. This
unit enables child ppreciate the beauty of mathematics through its

environments fa ildren to construct their own knowledge; and students
enjoy working through it.

Cc@ ive suggestions are welcome to improve the quality of this

extb

e cerely express our grateful thanks to The Karnataka Textbook
Society and all its members who co-operated with us.

Dr. G. Vijayakumari
| | Chairperson
Textbook Committee.
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About the Revision of Textbooks

Honourable Chief Minister Sri Siddaramaiah who is also
the Finance Minister of Karnataka, in his response to t
public opinion about the New Textbooks from standard on
to ten, announced, in his 2014-15 budget speec
constituting an expert-committee, to look into the m
He also spoke of the basic expectations there in, i e
Textbook experts should f@llow: “ The Texﬂ)o% ould
aim at inculcating social opment

oral val s&
of personality, scienti , criticalacamen, secularism
and the sense of i mitmenaid.
Later, for t ion of the ks from class one
to tenth, t ent of E n constituted twenty
ron 24-11-2014. The

re subJect and class-wise and
were in accordance wit he standards prescribed. Teachers

who are experts ‘v s of subjects and syllabi were in

the committees.

There @eady many complaints, and analyses about
the Textb(‘:& a freehand was given in the order dated
24-11-2014 to the responsible committees to examine and

@ t and even to prepare new text and review if

ry. Afterwards, a new order was passed on 19-9-
O which also gives freedom even to re-write the Textbooks
i#"necessary. In the same order, it was said that the
completely reviewed Textbooks could be put to force from
2017-18 instead of 2016-17.
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Many self inspired individuals and institutions, listing
out the wrong information and mistakes there in the text,
had sent them to the Education Minister and to the
"Textbook Society’. They were rectified. Before rectification
we had exchanged ideas by arranging debates. Discussion
had taken place with Primary and Secondary Education
Teacher Associations’. Questionnaires were administ@
among teachers to pool up opinions. Separate meetifigs wére
ectors and DIET%i ipals.

ted. To thie sbject experts

ematics _ahd Yanguages,

e

held with teachers, subject i
Analytical opinions had b
of science, social sci
textbooks were se ce and late gs were held

for discussions. ssociatio science related
organistation cussions. Thus, on the
basis of

o) arious sources, the
textbooks W de ever necessary.

Another very impor n’ﬁng has to be shared here. We
constituted threegexpeft/committees. They were constituted
to make suggestter making a critical study of the text
of science, mathematics and social science subjects of central
schools (N.C. T), along with state textbooks. Thus, the

. state text b have been enriched basing on the critical
' analys%nd suggestions made by the experts. The state
O

t have been guarded not to go lower in standards
nathe textbooks of central school. Besides, these
extbooks have been examined along side with the textbooks

Andhra, Kerala, Tamil Nadu and Maharashtra states.

Another clarification has to be given here. Whatever
we have done in the committees is only review, it is not the




total production of the textbooks. Therefore, the forms of
already prepared textbooks have in no way been affected or
distorted. They have only been reviewed in the background
of gender equality, regional representation, national integrity,
equality and social harmony. While doing so, the curriculu
frames of both central and state have not been transgresse
Besides, the aspirations of the constitution are incorpor@
carefully. Further, the reviews of the committees e
given to higher expert committees for examin%tio% eir
opinions have been effec the textb

Finally, we ex grateful o those who
strived in all thos ommittees with lete dedication
who $erved in hi mmittees. At the
11 the sup ng officers of the

pCiety’ who sihcerglyyworked hard in forming
’ and managedjto see the task reach it’s logical
completion. We thank @the members of the staff who co-

operated in this Our thanks are also due to the

subject experts an the associations who gave valuable
suggestions\J O
l&simhaiah Prof. Baraguru Ramachandrappa
ing Director Chairman-in-Chief
Ataka Textbook Society Text Book Revision Committee

Bengaluru. Bengaluru.
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Unit -1
5 - DIGIT NUMBERS

After studying this unit you can,

o read and write 5-digit numbers,

e recognise place value of digits in 5 - digit number,

e cxpand the 5-digit number according to the place valuge of d@j
and write the numbers in the standard form,

o arrange the 5-digit numbers jn ascending and degce &der,

e write the skip numbers ﬂ %

ociven § digit nu

@ umbers in jous class. You
btrs in - WO ce value chart,

and V1ce

You have learnt abo
know how to writ
standard form, expanded

ev1si0n e

1. Write’
1) 2,6 2) %

value char iven numbers.

3) 9,806 8,649
I1. Write the follo @ n words.

1) 1,739 2) 3,007

3) 4,08 11,900

I11. W ures g
thousand three hundred fifteen. :
o thousand four hundred.
Seven thousand thirty six.

- IV. Answer the following. g
1) Write the greatest 3-digit number.
2) Write the smallest 3-digit number.




3) Write the greatest 4-digit number.
4) Write the smallest 4-digit number.

V. Compare the numbers and write =, > or < sign in
between the numbers.

1) 3,567 4,567

2) 6,582 6,385 Q/
3) 7,384 7,384 %

VI. Write the greatest n allest 4 a - bers using
the following di t repeatln 1g1ts)

1) 1,2,3,4
2) 6,3 Q&
3) s, ‘
VII. Write the fo“o 1n%|mbers in ascending order.

1) 2,456 2,565 2,546

2) 5,768 0 5,678 5,687 5,867

3) 8,901 \ 8,910 8,109 8,190
' 11 KIE the following numbers in descending order.
2,947 3,038 2,930 3,830
L Y2 asm 4,98 4,082 4,792

3) 5,678 5,778 5,878 5,978
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If his father gave him one more agarbathi, how many agarbathis
does Sanjeev have now ?

Ten Thousands | Thousands Hundreds | Tens Units

_ _
-

Number

1
e In th&xﬁ the number of agarbathis obatined is a 5-digit

g number.

° T@obtained 5-digit number 10,000 1is read as
THOUSAND”

@ The numbers from 10,000 to 99,999 are 5-digit numbers.
. e 10,000 is the least 5-digit number.

® 99,999 is the greatest 5-digit number.




Some of the 5-digit numbers are given in words in the table
below. Read them. i

Number In words

10,001 Ten thousand one

10,010 Ten thousand ten

11,279 Eleven thousand two hundred seventy nine @

20,100 Twenty thousand one hundred w
33,333 Thirty three thou§and three hundredd:hi%‘ ee

45,698 Forty five t nd_six hundred r%;% t
50,000 | Fifty thegsan w
61,030 Sixtyjone thousand thirty Q’

75,032 Se ¢ thousand 0
80,574 1 housand ﬁV@ ed seventy four

99,999 @ty nine thou%l

Observe the followin le.

ne hundred ninety nine

greatest number Add1 Sum Conclusion
having Smallest
| Single digit§09 9+1 10 Two digit number |
| Two digi 99 | 99+1 100 | Three digit number

hre€ digit — 999 | 999 + 1 1,000 | Four digit number
rdigit —9,999 (9,999 +1 | 10,000 Five digit number

\'When one is added to the greatest number of each given
number of digits, we get the smallest number of next given
i number of digits.




o

g

Read the given abacus Last string from the units

place denotes ten thousands
place.

- Yes,itis 43,528

Ten

= 10 Units Unit

(0 Hundre Hu
4x10,ﬂ%@,000+5x100+2x10+8><1

43,528 =
= 40,000 + 0+500+20 + 8
Place value,c nd expanded form of 5-digit number
. Example 1 \
Wri number fifty three thousand twenty five in place value “
and 1ts expanded form.
ousands group Units group 2
en thousands [Thousands| Hundreds Tens Units il
10,000 1,000 100 10 1
5 3 0 2 5




53,025 1s expanded as

Sxten thousand + 3xthousand + Oxhundred + 2xten + 5xunit
=5x%x10,000+3x1,000+0x100+2x10+5x1
=50,000 + 3,000 +0+20+5

Example 2
Write 98,431 in place value chart and its expanded formn

Ten thousands|Thousands| Hundreds
10,000 1,000 0
9

98,431 is expanded as
9xten thousand + 8
=9x 10,000 +

=90,000 + 8,000 30 +1

Writing ef n ad¥orm of n @7 standard form
Example

Write 8xten thousand + Sxtheusandy+ 2xhundred + 7xten + 6Xunit in
standard form. Q‘/

8xten thousand + 5 d + 2xhundred + 7xten + 6xunit

=8 x10,000 +5x1,000+2x100+7x10+6x1

— 80,000 + ,0@ 200+ 70 + 6
— 85,276

The number 835276 is represented through abacus as follows.

S

ousan 4><hundred n + IXunit.
,0 x 100 + 3 1 X 1

Tl
3 5 % 7 é




Example 2

Write 3 X 10,000 +0x1,000+0x100+4x10+9 X1 in standard
form.

3x10,000+0x1,000+0x100+4x10+9 x 1
=30,000+0+0+40+9

=30,049 Q/
Formation of the greatest and%mallest 5-digit ng%‘vith
°

given digits \
Example 1 % @0
Form the greateft and, the” smallest S@t' mbers using the

digits 9,4, 6, 1, ithout rfepeating th
To form tk 0y 5-digit nur@
° Compaven digits. i
e Write them in descending order 9,6,4,3, 1.
o Getthe greatestﬁ ber 96,431.
The greatest Szdigit'atimber using the digits 9, 4, 6, 1, 3 without
repeating is 96,
To for h(&iallest 5-digit number.

C@a the given digits.
rite the given digits in ascending order 1,3,4,6,9.

Get the smallest 5-digit number 13,469.

The smallest 5-digit number using the digits 9, 4, 6, 1, 3 without
repeating is 13,469.

s e
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To form the smallest 5-digit number with one of the digits as
Zero.

Example 2

Form the smallest 5-digit number using digits 4, 8, 0, 2, 5 without
repeating them.

e Compare the digits given.

e Write the given digits in ascending order 0, 2, 4, 5, 8“@/
lles ber

e Now interchange 0 and the digit to get the sma
20,458.

°
igit num erx‘h e digits
4, 8,0, 2, 5 without@epe 1s 20,458.

® Therefore the smal

How to form sm igit numbe agiven five digits with
one of the@ 10 ? Qj

02,458

smallest
20,458 5-digit
number

Zero cannot take
ten thousands placé, ‘i
becomes a 4-digit
number.

e Write the given digits
in ascending order.

_ e Now interchange 0 and
8 \' get the next digit to get
the smallest number.




The preceeding and the succeeding numbers of given 5-digit

number

Let us find the preceeding and succeeding numbers of a given

5-digit number.

The Preceeding number
(one less than the number)

The number

The succeeding number
(one more than the nu%e

83,652
25,047
46,789
19,999

a0

Skip numbers

Each ste 's@lbered as shown in figure. A squirrel and a frog
are on 13,6% . Squirrel can jump two steps and frog can jump
ard at a time. Which of them is going to get the

is kept at 13,679" step ?

on which frog jumps are

three steps fo

o

h

b

The steps on which frog jumps, make skip numbers of 3.

teps on which squirrel jumps are

The steps on which squirrel jumps make skip numbers of 2.




Example 1

Write the skip numbers for the following.

1. 23,450, 23,700, 23,950, ,
The difference between 23,700 and 23,450 1s 250.
The difference between 23,950 and 23,700 is 250.
. Add 250 to get next skip number.

+ 250

+ 250
~7

23,450
23,950 +250=242
24,200 + 250 = 24,450 isYast skip numb

Fill two skip num 200 and 24 4 Q n the blanks.
23,450,, 3,950, zg@ 150

Example 2

Write the skip n Q)j the following.
1. 25,017, 35,017, , ,65,017.

The diffe en@etween 35,017 and 25,017 1s 10,000.
Add 10,000 t

0\ +10,000 +10,000 +10,000 +10Q,000

25017 35017 45017 55017 65,017

,017 + 10,000 =45,017. 45,017 is the next skip number.
'_ 45,017 + 10,000 = 55,017. 55,017 is the fourth skip number.
. The third and fourth skip numbers are 45,017 and 55,017.

next skip numbers.

S S




To identify the smallest and the greatest of given 5-digit numbers
Example 1
Which is the smaller number between 52,428 and 81,214 ?
Compare the digits in ten thousands place.
Digits in ten thousands places are 5 and 8.

5 1s smaller than 8.

Therefore 52, 428 is smaller than 81,214. “Qj
Example 2 % ¢
Which is the greater n een 23N 484 ?
In the glven num 1gits in ten %ﬂ s place are the
same, then com s place digi

Here the d1 it thousands e same. Compare the

sands place
2 is greater than 1.
Therefore, 12,2341 rthan 11,484.

Arranging 5-digit numbers in ascending order
Example 1 x@
ert& 36,952 , 35,418 , 43,709 , 45,187 in ascending

orde
Qare the digits in ten thousands place. If the digits in ten
ousands place are same, then compare the digits in thousands
place.

e Write the given numbers in ascending order.
35,418, 36,719, 36,952, 43,709, 45,187 are in ascending order.




Example 2
Arranging 5-digit numbers in desending order

Write 57,093, 52,169, 54,917, 57,298, 58,791 in the descending
order.

o First, compare the digits in ten thousands place. If the digits 1
ten thousands place are same, then compare the digits iﬁ

place
e Arrange the given numbers i %endmg order”
58,791; 57,298; 57(@ 2,169 ding order.

Exeércise 1.1

I. Insert com appropria s in the following
numbe itdin words. Qj
1) 3289 8415 3)9 4) 40003

I1. Write the following l@bers in figures using commas.
1) Forty five th@ hundred eighteen.
2) Eighty two thouSand three.
3) ThilrteK‘J sand seven hundred nine.

r thousand three hundred fourteen.

- 4) N

I 1. &he following numbers in the expanded form.

X 147,609 =4 x10,000+7%x1,000+6x100+0x10+9x1
O\ D) 19203

L 2) 71T

3) 38,294




IV. Write the following expanded form of numbers in the
standard form.

Example : 6x10,000+1x1,000+7x100+9x10+5x1 = 61,795

1) 7% 10,000 + 2 x 1,000 + 8 x 100 + 3 x 10 + 8x1 =

2)4 x 10,000+ 0 x 1,000 + 0 x 100 + 0 x 10 +1x1 =

3) o6xten thousand+3xthousand+5xhundred+1xtent+7Xxunit=

4) 1xten thousand+1xthousand+4xhundred+7xten+4xunit =
V. Form the greatest and the_smallest S-digit nun%%}s

the following digits witho etition.

Example : reatest
1 3, 1, 4, 7, 97431 13479
2) 6

3, 1
8, 1, 6,
3) 7, 0,
6 /

. 3 (@Q

5) 2,
VI. Completéthe table.

Prec Number Succeeding
number

1) 57,839

2) \Qﬁ

3)
4 88,890

V

40,781

13,586

MI. Follow the pattern and complete the series.
1) 23,344, 23,444, 23,544, ,
2) 15,790, 35,790, 55,790, ,




3) 88,888, 78,888, 68,888, , :
4) 30,453, , 36,453, 39453, - .
5) 58,600, 62,600, 66,600, ,
VIII. Write the following numbers in increasing ord
(Ascending order)

1) 30435, 70,533, 20411,  40,623. Qj

2) 44,444, 44,044, 0,444, 40,044. m
3) 63,841, 63,481, 48, 63,184. %
4) 50,060, 50,50 0, 5(%6\
5) 20,325, 2 , 0,302, Q .
IX. Write the fpllo g ' numberspi

NdecCreasing order

(Descendin r)

1) 23, ,567, 1@ 45,678.
2) 40,@ 45,064, &1 604,7  40,456.
3) 12,344, 12,34 2,304, 13,244,

4) 77,770, m 71,777, 70,777.
5) 61,234, 623134, 21,364, 12,364.
X. Comparg |Q ollowing given numbers. Write =, > or <

: sign, in the planks.
1) 5_____ 52085.

431 43,613,
15,662 24,672.
L Y4 3276312
5) 81,884 81,365

OM.

s e
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Unit - 2
ADDITION
After studying this unit you can,
e add the given 5-digit numbers without carrying,

o add the given 5-digit numbers with carrying,
o solve verbal problems based on addition of 5-digit numbers,

Let us recall what we have learnt about addition of D“We

4 — digit numbers.
Revisi ercise @

I. Add the following n \\
1) 4,368 +2,521 “
2) 2,673+5
3) 3,653+ + 1,156
4) _ + 564

IL. Solve pllowing pro
1. Sanmati dep051t 72 on Monday and X 4,678 on

Tuesday 1 Fmd the total amount dep051ted by
her. '%

2. The population-of a village is 3,389. The population of
anothe age is 4,893. Find the total population of both
the villa

: 3. &Znumber of students of first standard in all the schools

: panchayat is 1,673, second standard is 1,845, third

A tandard i1s 1,437 and fourth standard is 1,547. Find the

total number of students.

Do You Know ?

You can add the two numbers in any order but the total remains
& the same. Try the above problems for verification.

AT
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Addition of 5-digit numbers without carrying.

Addition of 5-digit numbers is same as that of addition of 4-digit
numbers.

Recall that the digits are added in this order - units, tens, hundred
thousands and ten thousands.

Example 1
Add the numbers 45,237 and 31,210. mﬁ(‘/

Let us represent the addition of these two numbers thr iCtures
as shown below.

ndreds Units
(H) ((U))
NEEE
e g8 | OO0

723 Tt
103000/




Observe the two numbers written in the place value chart. The
digits in each place are added.

4 ten thousand | 5 thousand | 2 hundred | 3ten | 7unit
+ |3 ten thousand | 1 thousand | 2 hundred | 1ten | Ounit
= |7 ten thousand | 6 thousand | 4 hundred | 4ten | 7unit

Ten Th

Th T U
~
Addends 4 5 3 %
Addends |+ Al Y 1
6 4
ition

Observe the column addition of the above two numberm

3
o = ,74‘7\

4
Steps involved i
1) Writg digit of the nu b% rtical column according
to the aces
2) Add digits in the units place. 7+ 0="7. Write 7 in units
place.
3) Adddigitsint ns place. 3+ 1=4. Write 4 in tens
Q place.
4) Add% the hundreds place. 2 + 2 = 4. Write 4 in =
& hundreds place.
50 digits in the thousands place. 5 + 1 = 6. Write 6 in
; thousands place.
Add digits in the ten thousands 4 + 3 = 7. Write 7 in
g place. tenthousands place.

Sum of' 45,237 and 31,210 is 76,447.




Example 2
Find the sum of 23,567 and 34,131.

Ten Th| Th H T U
Addends 2 3 5 6 7
Addends | + 3 4 1 3 1 “Qj
Sum |=| 5 7 9 o %
V
Example 3
Mr Mallappagurchasegra scooter elf and motor cycle
for his son. the scooter 21 The cost of the
motor cy, 5,678. F total amount paid by
Mr. Mallapp buy scooter or cycle.

The cost of the moto le =% 35,678.

The cost of the scogter %4 221.

The amount @ Mr. Mallappa

TenTh ([Th | H|{ T (U
cost o& cost of the ; o212
SQ0 motor cycle.
+ 3 5 6|17 |8
:;:, 4 ,221 +3 35,678 - | 6 9|l 8lolo
a

. =7 69,89.

.~. Total amount paid by Mr. Mallappa is ¥ 69,899.
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Addition of 5-digit numbers with carrying
Addition of 5-digit numbers with carrying is the same as that of
addition of 4-digit numbers with carrying.
Example 1
Find the sum of 38,765 and 25,978.
Let us represent the addition of these two numbers wij r%g
through pictures as shown below,
Ten
Thousands
)
Carry| o]
[ N N
& @
[ N
LN ]
LN ]
+ LN ]
\
e @
1 e
= — ° g
I K 2
| 6 4 7 4 3 i




Observe the two numbers written in the place value chart. The digits
in each place are added.

Observe the column addition of the above two numbers.
Ten Th{ Th| H| T | U

Carry | K | K| K| I

3 Y8 N7N\6 [\ Q/
e O

= 6
= 6
Steps involved in additi wo numbers carrying.
1. Write the nu i vertical colu@cording to the place
of digits.
2. Adddig g 5+8 ¢ 3 in units place
units pla and o tens place.
3. Add digits in the L+ 67 =14. Write 4 in tens

tens place. e and carry 1 to hundreds place.
4. Add digits in thn 7 +9=17. Write 7 in hundreds
p

hundreds place lace and carry 1 to thousands place.
5. Add digits,1 1 + 8+ 5= 14. Write 4 in thousands place
thousands : and carry 1 to ten thousands place. ..
6. Add digits inthe ten 1+ 3 +2 =6. Write 6 in ten 2
t s place. thousands place.

0f 38,765 and 25,978 is 64,743.

RN




Example 2
Find the sum of 56,003 and 42,597.

Ten Thf Th| H| T | U
Carry I ]1

= 9 816|100 Qj
.. sum of 56,003 and 42,597 is . ° %

N
45 * Write the ninbet§.one below the
flow 1O ads it ot ditig, to place of each
Qigit numPeT digit
caﬂ"fmg b

FSt digits in units, tens,

hundr thousands, ten
o s place.

réver carrying is necessary

Czll the digit to t%le next higher

A book seller sold 26,817 &ks in a book exhibition and sold
17,794 books in sedpndyb exhibition. Find the total number of
books sold by him in @ the book exhibitions.

The number of pBegks sold in first book exhibition =26,817

The number\l@ks sold in second book exhibition = 17,794

The totalknumber of books sold in both the book exhibitions
= 26,817 + 17,794 '

nthihiH THU = 44,611

ENEE _

2 (68|17
1 [7]7]9]a
= 4 |4]6|1]1 :

.. the total number of books sold = 44,611.




Exercise 2.1
I. Find the sum of each of the following.
1) 36,417+32,532
2) 28,490+61,306
3) 12,973 +46,016

4) 23,462 +52,304 N\Qj

[ ]
5) 42,806+ 34,063 % \‘N%

I1. Find the sum of ¢ h%e followin

1) 36,907+ 13

654 ‘Q/ 2
4) 25,700 + 2,246 + 1@13
5) 25,236+ 34, 8

II1. Solve the wing problems.

2) 24,596
3) 43,

1) There 26,759 trees in the protected area of a forest.

842 trees were planted during vanamahostava. Find the

tal number of trees in the protected area of the forest.

A co-operative milk dairy collects 15,209 litres of milk from
& farmers in a week and 16,826 litres of milk in the next week.
How many litres of milk was collected from the farmers in

two weeks?




....................

3) An Indian cricketer scored 14,025 runs in the test cricket
matches and 15,759 runs in one day cricket matches. How

many runs did the cricketer score in all ?

4) A public library in a city has 17,943 books in Kannada
14,635 books in Hindi and 10,284 books in English. Ho
many books are there in the library altogether ?

5) In an assembly electigh ‘three candidatgs mlled
32,135 votes, 29,048qv0 d 4,951 te\g%ectivety.
Find the total I;Li S polledw




Unit - 3
SUBTRACTION

After studying this unit you can,

e subtract the given 5-digit number from another 5-digit
number without borrowing,

e subtract the given 5-digit number from anothefy5 iQ}
number with borrowing,
er from a d.' '&,
d on s X&f 5-digit
numbers. p,

Let us recall t we’have learnt subtraction of 4-digit
numbers.
@ Revisi Qg‘rge

I. Subtract the followin mﬁ)ers.

1) 4,528-3,21 Qj

2) 6,453 - 5,30M

3) 3,759- Q
II. Subtrac&} llowing numbers.

1) 6823 -3,586
20 8000 - 4,617
3,564 - 1,345

e subtract the given 4-digi

e solve verbal proble

II1. Solve the following problems.

1) A factory manufactured 8,534 boxes. Out of them 5,421
: boxes were sold out. Find the remaining number of boxes.




2) The total number of students of standard five in all the schools
of a taluk is 5,728. If the number of girls is 3,572, find the

number of boys in the schools.

3) Sanjeev has X 8,524. He donated X 2,937 to an orphanage
charitable trust. How much amount is left with him ?

Subtraction of 5-digit numbers without borrowing.

Subtraction of 5-digit numbers is the same as that of. a@h
of 4-digit numbers.

1
tens,

Recall that the digits are_su d in this arde %its
hundreds, thousands and ds. xg‘\
Example 1 w
Find the differenge betwetn 75,389 and 3@@
W
OW.

Let us traction o % o numbers through

repres
pictures aﬁg)wj : |

ThousandS\Hu Tens Units
Thousands N
e NN/ | e (ggg | 000
== = lvaz|
= |gEE| oo
FEEL| 7
%

wses 8] Q09

09

4 3 2 1 5




Observe the two numbers written in the place value chart. The
digits in each place are subtracted.

7 ten thousand | 5 thousand | 3 hundred | 8 ten | 9 unit

- 3 ten thousand | 2 thousand | 1 hundred | 7 ten | 4 unit

= [ 4 ten thousand | 3 thousand | 2 hundred | 1 ten | 5unit

Observe the column subtraction of the above two numblr Qj
Steps involved in subtraction,
1)  Write the numbers in thewerticaljicolumn ac d& he place

of each digit.
2)  Subtract digits it 9-4= 5 W m units place.
units place.

3) Subtract dig rlte 1 in tens place.

4) gits in the ‘Write 2 in hundreds
place.

5)  Subtract digits,in ther 5-2=3. Write3 in thousands
place

thousands plam .
6) Subtract digits in 7—-3=4. Write 4 in

ten tho sa@lplace. ten thousands place.
The differer&) een 75,389 and 32,174 1s 43,215.

\ TenTh| Th

H|{T (U

intend 7 513 (819
\Subtrahend | - 3 21117 |4
Difference = 4 2 (1|5

= LA

WL, |




. Example 2
Subtract 26,235 from 39,637.
Solution :
a. Here 26,235 1s subtrahend and 39,637 is minuend.

b. Write 39,637 in first row and 26,235 below it in second ro
according to the place value of the digits.

c. Now subtract. Q/
Ten Th| T{ H U \{\
Minuend 3 7 ¢ %

Subtrahend - 5 \‘\)

Difference = 1 4

Verification 1
/\&Ew TH] Th U
Differen(é A 1 2
5
7

S |W|[Ww |-

Subtraher}d~/+ 2 % 2 |3

Minuend = 916 |3

0 You Know ?
Subtractien,can be verified by adding difference and
su@d. It should be equal to the minuend.

Veriﬁ‘;s s of subtraction for example 1 and all other problems
jon.

on suptra
E 3
coconut merchant purchased 49,137 coconuts. He sold 26,134
0

‘_ nuts in a month. How many coconuts are left unsold ?
.~ Number of coconuts purchased by the merchant = 49,137 2

Pl

L

- Number of coconuts sold in a month = 26,134
' .. Number of coconuts unsold = 49,137 - 26,134 = 23,003




Ten Th|Th| H| T| U
4 91 1{3]7

-1 2 6|1[3]4
2 3[]0/0]3

.. 23,003 coconuts are unsold

Subtraction of 5-digit numbers with regrouping or borrow'
Subtraction of 5-digit numbers with regrouping or b
the same as that of subtraction of 4-digit numbers by reg

borrowing.

Example 1 %

Find the difference betw nd 26,765 \J
Let us represent t n of these bers through

pictures as shown ke

hou nds [ Hun Tens Units

U 00000

K*GGGG%

4@*@% BIB%
57,394 BEE
e b &

TN o 37 | W
%%

oo S| | B8 | 00 |

' e 000

3 0 6 2 9




Observe the column subtraction of the above numbers
Ten Th{ Th| H| T | U

4
- 7
After regrouping the hundreds qnts places . “
Ten Th| Th H “= i \'\%
After
Regrouping 6 43 9 14 “
s 7% 717 )
i 2 71615
'/.\
= 3)% |62

Steps involvédin subtraction of§¥wo numbers with borrowing.

1. Write the numbégs ja the Yertical column according to place of
the digits.

2. In units la@ﬁnuend 1s 4 and subtrahend is 5. Since 4 i1s
smaller & 5 cannot be subtracted from 4. So borrow
1 ten fromptens place. So units place can be rewritten as
1 @ units

nits + 4 units

= 14 units.

- Now subtract units place digits. i.e., 14 — 5 =9. Write 9 in units
column.




3. After borrowing 1 ten to units place, tens place is left with 8 tens.

Subtract : 8 — 6 =2. Write 2 in tens column.

4. In hundreds place, 3 is less than 7. So 7 cannot be subtracted
from 3.

Hence borrow 1 thousand from thousands place. 1 thous
= 10 hundreds.

The hundreds place can be rewsitten as 10 hundreds +mgés
= 13 hundreds. g

Now subtract hundreds %X rite 6 in
hundreds column. h

5. After borrowing 1 th@usand, thous ace 1s left with 6
thousands.
Subtra é . Write 0 @ ds column.

6. Subtract. <2 =3. Write 3 ten thousands column.

.. The differenc bet 57,394 and 26,765 is 30,629.
Verification of su%on

@ TenTh| Th|H | T | U
Differetice 3 0161219




Example 2
Subtract 73,649 from 90,000.

In these numbers 73,649 is subtrahend and 90,000 is minuend.
Now, we have to find the difference between 90,000 and 73,649.

TenTh [Th{H [ T |U

Minuend 9 0[0]0]0 \&\Q/
Subtrahend | - 7 6 |49 | e '\$

Difference =

After regrouping 4 (g
Ten %«

N OdE Y
g 4]
7

= 61351
Verific tion@
-Tf x’ Ten Th| Th| H | T |U
: @che | 6|13 (5|1

f Wubtrahend | + 7 31614109

<

N
N
No)

II
O
(e
(e
S
S

Minuend




Example 3

Last year 16,986 kg of rice was consumed for midday meals of
primary school students. This year it is 21,482 kg of rice. How
many more kg of rice is used this year ?

Quantity of rice used to cook for children this year= 21,482 kg
Quantity of rice used to cook for children last year = 16,986 kg Q

.. Increase in quantity of rice used this year = 21,4%
=44
. 4,496 kg of more rice is to cogk for primw students
Th

this year.
Verification
Ten H
Difference~ {0~ 4
Subtrahe({ ) 1 ﬁ
Minuend = 2 418

Example 4 m@
The workers of a t@a/factory have to fill 48,342 packets of tea

powder in a da ey had filled 33,675 packets before lunch time,
find the remaining/packets to be filled.

Numbf&})ackets to be filled withteainaday = =48,342.

i = 14,667
Remaining packets to be filled = 14,667.

N f packets filled with tea before lunch time =33,675.
he humber of tea packets to be filled =48,342-33,675 :_i__
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Exercise 3.1
I. Find the difference of the following

1) 59,842 - 34,532
2) 86,291 64,130
3) 41,297 - 16,025

4) 25,7768 - 4,304 @
5) 17,094 - 3,043 m
IIL. Find the difference o %mg ) %
1) 42,695 - 20,7 %
2) 50,625 - 6@
6,54

3) 40,000 '\}‘
4) 25, Q
5) 20,@ 8,625 QQ/
II1. Subtract. Qj
1) 16,486fr0m@
52

2) 36,2791 ,367

3) 10,00\1@31,579
g 4) 683 from 40,000
297 from 11,035

I. Solve the following problems. i
1) What should be added to 37,946 to get 91,643 ? ;
2) What should be subtracted from 67,215 to get 28,941 ?




3) The sum of two numbers is 87,065. If one of the number is
49,726, find the other number.

4) A farmer yielded 38,462 coconuts from his field last year.
This year he yielded 47,285 coconuts. Find how many more
coconuts he yielded this year ?

5) In an assembly election, Mr.Suresh has got 42,618 v
Mrs. Rohini got 54,951 votes and won. How
votes did Mrs. Rohini get than Mr. Suresh ? %
Problems involving both add nd subtr\tf‘ tions.

Example 1
Solve : 22,457 + 32,

First perform addition of 22,457 and 32

TeW\T\ U
Carry U‘I 1&7

+ 3 2 6
5

4 | 3
Now subtra @2 from the sum of 22,457 and 32,986

Ten Thf Thf H [ T [ U

4 |14] 14
FVAVAERE
- 3 [ s 7]1]2

= 1 91 713 |1
o 22,457+ 32,986 - 35,712 =19,731

S S




Example 2

The co-operative milk dairy collects 15,684 litres of milk from
village A and 17,324 litres of milk from village B. Ifthe co-operative
dairy sells 20,263 litres of milk, find the quantity of remaining mil
Quantity of milk collected from village A = 15,684 litres.
Quantity of milk collected from village B = 17,324 litres. Qj
.. Total quantity of milk collected from
both the villages = 15,684+17,324 litres

= 33, '

@Llnes
1 I 008 - 20,263 litres

= 12,745 litres.

Quant1 emaining ‘ Qj = 12,745 litres.

Example 3
A petrol bunk hdd 96 Qﬂitres of petrol. 26,841 litres of petrol

was sold on Monday and 35,769 litres of petrol was sold on Tuesday.
Find the remamg‘quan‘uty of petrol in the petrol bunk.

Stock of pet e petrol bunk = 96,321 litres
Quantlt pe 01 sold on Monday = 26,841 litres
petrol sold on Tuesday = 35,769 litres :
ntlty of petrol sold in 2 days = 26,841+ 35,769 litres
= 62,610 litres
Quantity of petrol left in the petrol bunk = 96,321 - 62,610 litres
= 33,711 litres 7

-~ 33,711 litres of petrol is remaining in the petrol bunk.




II.

Exercise 3.2

Solve.

1) 54,398 + 24,897 - 39,486
2) 43,618 + 6,382 - 29,467
3) 21,679 + 27,428 - 2438

1)

2)

3)

4)

Solve the following problems. w@
A mobile phone fact obiles in

November and

nufacture 3. 1
1les in Decemben Out of them
42,534 mobiles sold. Find h amy mobiles are

left uns factory. Q'

Mr. An 15,282 in account. He deposits
n Wednesdea ithdraws ¥ 30,145 on

' dy. Find his b n@e after withdrawal.

Mrs. Anita has 0,000 with her. She purchases a colour
T.V. for A3 and a refrigerator for ¥ 16,990. Find the
amount le her after the purchase.

6 Ohool uniforms are provided for school children
ofadistrict. 12,372 and 23,003 uniforms were distributed
S

ools of two taluks of the district. Find how many

to
0 iforms are remaining.

oiite




Unit - 4
FACTORS AND MULTIPLES

After studying this unit you can,

¢ explain the meaning of factors of a given number,

o identify factors of a given number,
o find the factors of a given number, Qj
e draw tree diagram to repres e factors of a g.ive Wr,
1 agivenn b%%
L\

umber.

e explain the meaning of

o find the multiples of

o identify multiple? fagive

Factors and M les of a number
Example
Consid me called “g&! together.” There are twelve

students in t ame.

Students are moyin itgﬁircular path. A number is announced.
Students make grou g the number of members announced.
Students who form g s with more or less than the announced

number are @as out.

O &




Number
announced

Groups formed

Number
of groups

Members
left out

| RRRRRRRRRRRR| 1o 0
RIRIRR
2 22’2 R 6 L b’
R BRI RRR




Observe the above table and complete the following table.

The numbers announced where  [The numbers announced where some
no group members were left out. |[group members were left out.

Numbers in the first column are factors of 12.
1,2,3,4. 6 and 12 are factors ofdl 2. “
Numbers in the second column ot factors %
5,7,8,9, 10, 11 are not faGtors,of,12. \’%

If1,2,3,4,6 and 1 e f2

fors of 12 t%
what is 12 call ith nespect to 1 6, and 12 ?
Observe t@) ing table.

X = 12

X 4 = 12

4 x 3 = 12

\Q 6 x 2 = 12

\ 12 x1 = 12
Qled the multiple of 1, 2, 3,4, 6 and 12

£ nsider 3 x 8 =24. 3 and 8 are factors of 24 and 24 is multiple of
. 3and8.

Therefore, factors and multiples are related to each other.




Example 2
Multiply and complete the table.

x|1[2]3[4]5]6]7]8]910[11]12
1 12
2 12

3 12 Q/
4 12 48
5 % ¢

6 12 " A8

7

8 48

9 ,ﬁ\‘tr

10 C ))

1l NN

12|12 48 ,

The numbers of the fi ware 1,2,3,4,5,6,7,8,9,10,11 and 12.
These numbers@multiples of 1.

The numbers4y ond row are 2,4, 6, 8,10, 12, 14, 16, 18, 20, 22
and 24. ﬁje numbers are multiples of 2.

ist Itiples of 7, 9 and 11.

rve the following examples

Dis amultipleof 1.  1x1=1
2isamultipleof2. 2x1=2
6 isamultipleof 6. 6Xx1=6

RN
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9isamultipleof9. 9x1=9
ITisamultipleof 11. 11 x1=11

From the above examples we can conclude that,
every number is a multiple of itself.

Observe the following examples.

lisamultipleof1. 1x1=1 Qj
2 is amultiple of 1. 1x2$ . m
Sisamultipleof 1. 1Xx 5 \%

10 is a multiple of 1. %o w\o

15 is a multiple of i ' 1% 15°= 15 @

From the above s'we can co at,

every nu ultiple of 1@

Example ‘

Which are the two numb@ be multiplied to get the product 8 ?

1x8=8, 2x[_] <[ ]=8, 8x[ _]=8

The factors of ﬁ 1,2, 4 and 8.
Example 4

| Find thﬁ:tors of 48

2 @4, 2x[]=48, 3x[]=48, 4x[ =48 |
= 48, 8x[__|=48, 12x[__]=48, 16x[_]=48
4x[]=48, 48x[__]=48

.. The factors of 48 are 1, 2, 3,4, 6, 8, 12, 16, 24 and 48.




il

We can conclude that, when two or more numbers are q
multiplied to get the product, the numbers multiplied are called
factors of the product.

Observe the following table :

Multiple Factor Division | Remainder

48 2 48 +2 =24 Zero Qj
48 3 : Zero %

48 8 Zero

48 12 4 e
We can concludg that, a pumber is a f the given number
if it divide number letely leaving zero as

remainde P

DO_YOU,KNOW ?

If the sum of all the factofsjof a given number is equal to twice

the number, then t er 1s called a perfect number. Factors
de:

of 6 are 1, 2, 3-a um of all factors of 6 1s 1+2+3+6 =12
Twice the % =2 X 6=12. So, the first perfect number is 6.

Find &:{ perfect numbers.
C@R REE

number can be expressed as product of two numbers

ctors). This can be represented diagrammatically by factor tree

as follows.




Example 1
Write the factor tree of 24.

24 = 2x 12
@ 24 = 2><2/\6
o @ A

om0 24 = 2x2x2x3 QJ
OO 24 2X2X2 X3 \(\;
([
Example 2 N%
Complete the followi tree.
W
24 = x[ ]
"\
xL Ix[ |

O @24 = 3x[Ox[Cx

X

(N

4 X 6
7 | x [ Ix [ Ix[_] |
o &
| | Ix [ Ix[ Ix[ |
: ]
l‘ If

. Factor tree for a given number can be started with any two
factors.
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Example 4

Write the factor tree of 18.
18 = 3X 6
18

w1

oo

Factor tree can be '%fferent ways by taking different factors.

oints to remember
1. Every r 1s multiple of 1.

2. iple of a number is either equal to or greater than the K
er.

1 is a factor of every number.

4. Every number is a factor of itself.




Exercise 4.1

1) Circle the multiples of 4 with blue colour, cross the multiples
of 6 with red colour and underline the multiples of 9 with a
pencil.

I (213|456 |78 |9]10
1|12 (13|14 (15|16 (17|18 | 19|20 Q/

21 | 22 | 23 (24 |25 |26 | 27 | 28 29%
31 |32 33|34

4| 4|53
51| 52 | 534%4

61 |62 |6

71 | 2 4

s1(|(s2 )% | 84

91 1921 93 | 94 9&96 97 | 98 | 99 | 100

2) Circle the mul n the following numbers.
7,13, 14, 21, 22,85,/ 36, 42 and 45

3) Circle tK) iples of 12 in the following numbers.
6, 12, 18324, 30, 36, 42, 48, 54, 60, 66, 72

@&he multiples of 2 between the numbers 50 and 60.

) rite the multiples of 15 between the numbers 50 and 100.

S S

6) Write five multiples of the following numbers.
15,17, 19 and 23
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7) Find which of the following numbers are factors of 24 ?
1,2,3,4,5,6,7,8,9, 10, 12, 14, 16, 18, 20, 22 and 24

8) Write any two factors of the following numbers.
6, 18, 28, 36, 42, 48

9) Write all the factors of the following numbers.
9,13, 20, 26, 40 @
10) Write the factor tree for the{following numberss m
12,20, 28, 32 and 36 N
11) Complete the foll I8y

-

;ﬁ' nl
i i
) =
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Chapter - 5
FRACTIONS

After studying this Chapter you can,
¢ explain the meaning of fraction,

o write fraction for the given situation,

e give examples for fractions, m
°
e compare the fractions havimg, ) X&%

a) equal denominatdrs ) equal nu
o identify the greafer or Smaller fraction@
e explaint aningof equivale @on,
e writee t fractions f QJn action,

o identify equivalent fractigns,

e locate % on umber line,

11
4 b 2 b
e estimate eee of closeness of a given fraction,

o simplify thé*larger unit fractions into smaller unit
acti viding by common number).




Fraction as a part of the whole.

Example 1 Yes,
half-half
Let's share this _ 2 1
biscuit. =

ol %

(a

&) [
When you say ‘half- ha many, ar%ou going to
break the whole ? Twefparts! %
Two halves make ofic whele. Q’
below.
1'

Study the pairs %

Y

Two unequal p wo unequal parts ~ Two equal parts
Which ones o@ call halves . Why ?




In fig C, the whole is divided into two equal parts.
Each part is a half.

Half is expressed as %

Example 2

Look at these circular cutouts. Each has been divided into fo
parts. Is there any difference in the way they have been divid@

D

The important point is@ilto express a fraction as part of a
whole, we must diyi hole into equal parts.

Example 3

Look at the rectangle. What portion of the
rectangle is coloured green ?

It 1s one out of the three. Here, the whole
ta @ 18 divided into 3 equal parts.

such equal part is coloured green. It is written as

RN

| ample 4

, Look at this circle.

.~ Into how many equal parts is the circle divided ?
It is divided into 6 equal parts.




How many parts of the circle are marked with plus sign (+) ?

It is one out of six parts. It is written as %.

How many parts of the circle are marked with dots ?

It 1s two out of six. It is written as %.

Numerator and Denominator

o111 Q/
Look at the fractions : > T3 m
| | o &

A fraction consists of two
written one above the otheg, .'
by a line. The number ’@ ineis | Denbfnthater 2 4 8
called the numera C

parts is the deno mi ator
taken out is 1. This

as the numerator.
1 rator

g8 — e inator

In this f%r‘e 1 out of 4 equal
p @o oured.

—  Numerator

4 — Denominator



Observe the triangle given below. 7

Aﬂﬂmﬂﬂ\%wl no. of equal parts made | 2 | — Denominator

No. of coloured parts 1 | > Numerator

No. of uncoloured parts | 1 | — Numerator
Total no. of equal parts made |2 | — Denomi@

From these examples we concludg that, “
e Fraction is a part of a whole% ¢ %

To write a fraction we\n

the denomin
al parts sgl¢

1 or shaded, forms the

umber
The number of GE I'parts wto which ‘d@is divided, forms
e

The nu
numerdtgr. ) .
N ¥4

3 - }I‘lmetor

s: — 717
4 ngminator <— \
Three by four Seven by eight

Fraction as@ of collection

So%oflOis 5.

Examp“ ,
'ﬂc lection of 10 labels. NT “F_i 'HI "‘|\ UW

ill have 5 labels. & H”

is collection into two
parts. Each of these parts == =—=——————————




Example 2
Study the fractional part of the following collections.

a) % of this collection is coloured.

o1 .
..70f6ls 3

b) % of this collection is coloure

. 3 .
..Iof8ls 6

c) % of this collecti (%)(loted.
.2 :
ST of 61s° ‘z

Example 3
deul has 13 piecs of Mysore paks in
. his plate. He gives 2 piecs of Mysore

paks to his friend D’ souza.

Can youptell what part of Mysore paks does D’Souza get 7 It is 2

. out o@.
¢ W3/1s total number in the collection. 2 is the number taken.
i erefore it can be represented by %

It is read as two by thirteen or two thirteenth.
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Example 4

Manohar sells tomatoes in his shop.

There are 17 tomatoes of equal size in the tray. He weighs hal l@ 0
tomatoes and gets 5 tomatoes. Can you tell what part o 0€
does he get ? It is 5 out of 17.

° <:
Here 17 is the total numbegsi llection. '&V number of
tomatoes taken. %
S

I a art of the

Frac
Example 1 :

- What %e sweets available in Hari’s sweet shop ? '
@) v@part of the shelf does he keep Laddus ?

i is 4 and read as one third or one by three.

i 3 3
'-'I'!"I L
Hari wants to sell % of Laddus to Viju. '

How many Laddus does Viju get ? It is 7.
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Example 2
This is Mani’s vegetable shop.

Brinjals Potatoes Tomatoes

Which ve istkept i @ ?
What part is97 4................... ‘is = %

What part of the area is u@to keep carrots ? It is %

From the above exa
collection in a group

¢ conclude that, fraction is a part of a

Exercise 5.1

1) Whi followmg figures have been divided into parts
me size ?
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2) Draw a line or lines to divide each of these figures into the
required number of equal parts.

a) Half

f) elveth \
b) Two-third “nineth.
(Q;) { )

c) Two-tenth ur-nineth
Three-fo

d) Five-sevent
e) Five-sixtee ) Two-fi
4) Write ¢ ) the fractioS\%&
2 3 11 2
D5 D7 Q;)] IV 93
4 3
i g>%0

2 parts 4 parts 6 parts
3) Write each of the followi s a fraction. %
[ J

T




6) Fill in the blanks. &

a) The denominator of the fraction % 1S veiiiiiienn,

b) The numerator of the fraction % 1S ceiiiiiiiannn,

c) 3isthe........oooiviiiii of the fractlon =.
d) listhe.................. of the fractlon —. “
e) In a fraction, the de%ator is ertter% the
................. sep by a Jine
7) Write down the fr %coloured p in these figures.
{
. o
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8) Write the fraction for the shaded part in each of the
following figures.

Example : Colour %

1A

a. Colour 5

—

S

10) Represent the giveanction by drawing a line.
a) What is%0f12 !

ENGEEIN

76077 77
77 27




5 B o Ty a L Tl pal S i A D SR o e A St L, TR S P mTY, Lt U ] . -AJ
TR L T ey s S e S R e e e A e e S B o

c) What 1s7of21 ?
WHIAEIEHS N
C R R

AN AN

Shade the figures to show the fractions.

11)

(
qﬂgﬁ‘ .




13)  Which of the following shaded figures represent % ?

Discuss the reason.

Fod | 00069 |00O0O 6‘,

CEIT| OO0 | ©000

A A OO <><> @@@@52

E XN -
= 5 8 g&@
14) Repr ;rouped IK% ;actlons

Example




Comparison of fractions
Comparison of fractions having same denominators.
Example 1
Look at the shaded parts of the followmg figures.

T A
Are the shaded parts of each fi equal in size ‘7 m
Here % is smaller than %

Symbolically, we writ %

Observe that denoritinatos 7 1s the same, actlons

Numerator 1 is sma

Example

Here— s gre rthan—

r 8 is same. Numerator 5 is greater than numerator 3.

5 3
cally, we write 2 > <

\From these examples, we conclude that if fractions have the same
denominator, then
1) smaller the numerator, smaller is the value of the fractional number,
1) greater the numerator, greater is the value of the fractional number.




Comparison of fractions having same numerators.
Example 1 :
Look at the shaded parts of the following figures.

% is greater than =l

s g)$ \0\\

Which shaded part j

@Qgreater than =

Symbolically we write % %

L

In both these cases, numerator is same. We observe that, a
fraction having fesser denominator is greater.

¢ denominator, smaller the value of the fractional number,

We can ioncl at, if fractions have the same numerator, then
v‘r the denominator, greater the value of the fractional number.

) gr

' 1) % is lesser than % 2) % is greater than %
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Exercise 5.2

Fill in the gaps using > or < signs.

L L A AL

505 s 505 o s0%

7 2] s 44 9. L 6Q}

0.2 ]2 11, 2L (a2 12,<$
EQUA(AL

Example 1 :
Look at these

- The sha&l‘part of all the figures are equal in size.

that in each case half of the figure is shaded.

|
) _2_ 4 |

i 2 4 8 i
ese fractions are called “Equivalent fractions.”

Fractions which indicate the same value are said to
be equivalent fractions.




Thus, to find equivalent
denominator of the frgction

Checki

3x12=36

Example 4 ; a@and %
\\J T><19_2 (cross multiply)
0 4x 9 =36
36 =36

) 3_9
i o= =
4 12
3. . 9
= 1 =
7 1S equiva ent to B

SO

Z is not equivalent to 5

e equivalence of fractions.

b) % and %

%X]—% (cross multiply) =
2% 18 =136
TX 6 =42

36 %42

2 6
T

18




We conclude that in given two fractions,

1) if the two fractions are cross multiplied and the products are
equal, then the fractions are equivalent.

1) if the two fractions are cross multiplied and the products are
not equal, then the fractions are not equivalent.

Finding equivalent fraction with given numerator@

denominator. m
Example 5 : a) % = I]; ° %
2 \Q \

@yercise 5.3
I Complete the

2 4
b 5565 &

_Ly_ 15 O
&Lm R=s
V@: e next three equivalent fractions.

B l 4
R e, e, 1
3 ) 3, 6 .. e R
i 3’ 16
3 2, 18 . s e s e
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III. Are the two fractions equivalent ? Mark with v or x

3

1) ? and
12

2) ﬁand

3) % and

Gl 2= Sle 8z

4) % and

Q
1V, Find an equivale %%; ha‘%\.,\g\
AN

1) 16 as numerétor

3) 21 ator @Q

4) 84 inator ‘
Simplification of acti(@j

Example 1

Look at the equjve

How can we get 2 and % as the equivalent fractions of % ?

4




From the above examples, we can conclude that, equivale
fractions are obtained by dividing the numerator and the denominat

of the given fraction by the same number (except 0). “

Example 2 :

[5_15,5 3

% 5_@5+5:? Thus, 55=75
To geta simpliﬁedm a fraction with lower terms, divide the
numerator and the deflerminator of the given fraction by the same
number.

In this c%ﬁyalue of the equivalent fractions remain the same as

the giyen'fraction.
Ak

36

; Reduce the fraction 5 to its lowest form.

i (both the numerator and

36 36,2 36+2 18 denominator are divided by
4274272 T4 2 21 same number 2.)




. Reducing a ion to its lowest f led simplification of
fraction
. To gett lest form 0 n fraction, go on dividing the

. Reduce &‘Q the following fractions into its lowest form.

Can you reduce further ?

Or \‘N
36_36.6 36+
424276 42-

numerator and the de na r by the same number until you
get lowest form

Exercise 5.5

5 54 4 3
1)@ )5 D 4) ot 5) <

E D3 ®3 9 5% 10 i

it




Chapter - 6
ANGLES

After studying this Chapter you can,

e cxplain the meaning of an angle with the help of fol
sticks, hands of a clock etc.,

instrument

ded paper;

¢ identify the situations and objects where angles are form @
the surrounding environment,

e measure and name the différent angles,

e identify right angle e angle and obtu 1n the
environment,

e identify and u llythe 1nstrum a geometrical

e trace W 1ght angle, acﬁ and obtuse angle.

Let us omee of the daily act1v1ties.

e Whenyoustandinali marchpast,
you will turn to t or to your
left, according to th&instructions. While
turning can yotgay how much you have
turned ?

w much you have to turn the

2 tap to get water ?




e Have you observed the regulator
of a fan? To increase or decrease
the speed of a fan, we have to turn
the knob of the regulator. In the
figure, the knob of the regulator
has been turned from 0 to 3.
What is the measure of this
rotation?

e The bus driver will turn the ste
wheel of the bus. How ca
measure the rotation o ering

wheel ?

Angles (&

e The minute ha lock will tu
1n10m a8 antheﬁ
Here the of the ne
be represe d as an ang ThlS

angle has two arms (31 ) and one

common point. n

Observe K@wmg geometrical figures having angles.

DAY

In the above ﬁgures some angles are marked by drawing lines.
Identify the remaining angles by drawing lines as shown.




We can observe the same type of angles in the environment and
in our daily activities. Identify the angles in the following figures by
drawing lines.

Mark its centre as O. Take a pl
the centre of the circle. Th
marked as OA. Now rotate
distance of the stick as

the point A to the poj V&;lt ng e at B
O. This measure of the m@vement of the alled R
Angle.

An angle and one n end point.

Represen f an angle

Here OA and OB are theitwo fays. These
are the arms or thegsides lof the angle. The
point O is called the x of the angle. An
angle is represen by e symbol|__ ’or

aand denoted tal letters of the English | ¢ s
alphabe

Ve ﬁgure AORB is the angle. We can represent the angle
AOB or |BOA. The middle letter represents the vertex of
gle.

Do you know : The word angle has been originated
from the Greek word angiloose. Angiloose means
curved, slanted or not straight. The space between
the leg and the foot is called ankle.

AT




In the adjoining figure, XYZ is the angle. It is
represented as AlXYZ Qr lZYX. 1t is also
represented as XYZ or ZYX

Angles in the adjoining figure are| PSQ ,
|QSR and |PSR .

A
Do yourself : Take a thick s f paper
and fold it as shown in t re. Make the
shape of M. Observ 18s formed

here. When you sp theeuter fold, you
can observe thatfthe measure of angles

csent the letters V, L, E,

the folds.
Fold the paper’and make d1 ent shapes and observe the angles
formed in them.
ercise 6.1
1) Observe your su ding environment and list the situations
where the a are formed.
2) Observe es formed while doing the following yogasana
postures.

o

Halasana
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3) Pavan has arranged sticks as shown in the figure. Observe
the angles formed here and mark the angles by drawing lines.

4) Name the angle, vertex and th€ sides in the follogvin%

\

Angle -

(a) 0 (b (©) (d)
Measur&en\ﬁf an angle (-3

\
% as got two clocks. In one clock

| ¢ shown is 3 hours 30 minutes.
n antother clock, the time shown is 9 hours

minutes. In which clock the angle formed
between hour hand and minute hand
is greater ?




In order to answer the above question, let us
understand how to measure an angle. Take a
circular cardboard, and fix a plastic needle at
the centre. Rotate the needle from a fixed position.
When this needle comes back to its original
position, one rotation will be completed. We call
this rotation as one complete angle. This one
rotation will trace one circle. If the circle is equally
divided into 360 parts, we get 360,equal angles.
This one angle is called one degree. One degree
is denoted as 1° (We re s one degree).
00

So the measure of one gle is
(360 degrees).
Protractor @'

ofa circular old the paper along its
centre as § the ﬁgur% @n ure of the angle at the

centre is 36(° erefore, hal this must be 180°. This measure
of 180° is called straight<angle. There is an instrument in your
geometry instrumen b lled protractor. Observe its shape. We
can measure the ang ng protractor. In this protractor 0° to 180°
is marked fromto t and also 0° to 180° from right to left. So

the maximuKJ

180°
VR

Do you know : There are complete protractors which measure
an angle of upto 360°.

D e e S

IR



Method of measuring a given angle using protractor :

Let us measure |[ACB with the
help of a protractor.

Steps :

1) Place the protractor on |ACB as shown in the figure, The @2
O of the protractor should exactly coincide with the f

|ACB. One side of the angle should coincide with ase
e

line (0°) of the protractor. e

2) Now count from 0° an ards A TI%\'};; from CB

count 10°,20°, 30° . £ \.. ther side ngle coincide

B is 60°.

Y
Ranjit measurey-and reads the | XYZ as 55°.
Is he correc Q ?

Discugs with your teacher and friends the points to be considered
whil ring an angle. :

0 n angle has two arms. While measuring the angle, either
e arms can be coincided with the 0° line of the protractor,
en the measure of the angle remains the same.

RN

. Activity 2 : Prepare a protractor and complete that protractor with
~the help of a circular cardboard piece and try to measure the angles
using them. Discuss the problems that you face here.




Types of Angles

Right angle
Measure the following angles.

The measure of all the angles are equal to 90°. The armgxg
ides of

its measure as 90° is called rightangle. In a right an.gle
an angle are perpendicular to ea er.

In the figure |PQR = the sid %\Nght angle to
i oting right a (90°).
@ Q

Activity 1 : Fold a circulappaper through its centre. The measure of

the angle is 180°. en you/fold it through its centre once again,
examine whether yo -% ght angle.

Activity 2 : '%‘ a set square from your | |
geometry instrutnent box and trace its edges as | -

- shown 1p the figure. Examine whether it 1s a bl i ‘S?
~ rightangle. N

n observe the formation of many right angles around us.

or“example, the angle formed between the

jacent edges of paper of a book, the angle
- formed between wall and floor, the angle
formed between a wicket which is straight and
the ground etc.




i S e e
|

Acute angle

/ N

. %m
Measure the above anpgl cord thefn. angles are
less than 90° or a rig gleSuch angles wht %\ sures are less

than 90°, are calle ute angles.

Observe the fo i amples a the acute angles.

The lad inclined to A&aqj /I

\0\0

e The @e formed between
“3;4 $ ds of a scissors

e The photo kept inclined to a wall.

-
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Obtuse angle

straight angle. Suc

\%

e The boy standing with lifted hands.

o’Angles formed in this figure

Measure the angles give %record he%%ese angles
have measures more & right angl&w than 180° or a
s whos

€ measures\a ore than 90° and
less than 180° arg called @btuse angles. @

Observe th 1 examples Q&ark the obtuse angles.
e The fan as 3 blade ‘

¥y




Angles in a clock

You have observed many types of angles formed between the
hour hand and the minute hand in a clock. Observe the angles formed
between the hands when the clock shows the following timings.

When the minute hand need s. 60°%Then the

hour hand needle will t 0, ed on thtit\e‘ discuss the

following questions.

e Among the 12 flumbé&s marked in asclogk}-what is the angle
formed betw ne number of a c 1ts nearest number ?

e What is % formed betwee e two hands when the
clock i g 10 hours es”?

e In a day, how many ti@n t angle will be formed between

the hour hand a% ¢ hand ?
inute 9 hours 30 minutes

Acute angle Obtuse angle
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Activity

1) Mark the right angles in the figure with red colour, acute angles
with green colour and obtuse angles with blue colour. List their
numbers.

2) ObserV ole between
the bea the blrd

Identify whether itis r
angle, acute anglgor ob
angle. %

3) Mar &rent angles formed in each letter of the word "ANT".
the number of each type of angles found.

7 - Right angle .........
Acute angle .........
! Obtuse angle .........




4) Use the set squares from your geometry instrument box and
construct angles of measure 90°, 60° and 45° as shown in the
figure. Verify by measuring them using protractor.

he angles 15°,

Think : Using s u con
75° 105° and 1 (?‘? How,?
Exercis
1) Mark t angle, ac Qél and obtuse angle with

different celours in the following figures.

N

3

(c%s,éan yo

[ =

\




2) Measure the following angles and write the measurement and
type of each angle.

a)




3) Observe the acute angle, o ngle and right wyour
class room and list the x
Example : The two edge black board, - gle.

4) Write your namg Usifig English capital letters/) List the number
of acute angles, obtuselangles and rig es in them.

5) Draw any_six s using scalg ah
protrac Qé
6) Write t ure of the leNpttwe
following clocks and name t .
a) )&’ b)

7) Chogse theyright answer from the following.
a) ple for obtuse angle.
0 2)53% 3)178° 4)180°

_ n the given figure, the number of right
P angles, acute angles and obtuse angles are

1) 15,4, 10 2) 4,15, 10 O>

3) 10, 10, 4 4) 4,5,5

measure them using

en the two hands of the

7 i 1




8. Classify the measures of angles given below :
16°, 180°, 88° 179° 45° 90° 100° 35° 142°.

Acute angle|Right angle|Obtuse angle[Straight angle

9. Estimate tHe measure of tk@wing angles.

Verify by uring them. Na ype of angles.
Esti Actual | Type of
{; measure | Angle

st

m

1 K
w 110° 120° optuse

Sl.
No

e .
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Chapter - 7
CIRCLES

After studying this Chapter you can,

o identify the instruments from a geometrical instrument box,

e acquire the skill to use the geometrical instruments as per th
requirement,

o explain the meaning of a circle,

e construct circles with the Help of compasses,fo
measurements.

Activity 1 : Use circ ﬁ(e bang i
draw circles. Identi res of these circles,/Can you exactly
locate the centreg of thes
Activity 2 : 4 2cm and 6¢m are to
be drawn. using bangle, plate and
coin? why2 B

Now, let us 1 construction of circles for given

measurements.
Before thig, Yet us know
about the in§t nts required

for it. x
o@*i al instrument box.

he geometrical instrument

ox consists of different

instruments which help us to

construct different geometrical
figures.




o

g

The name of the instrument and its use is given in the table below.

Name of the Instrument Uses of the instrument
instrument
a) To draw straight lin
Scale (ruler) and line segment.
b) To measurethe t
of the line segie
°
o To \'\}r length of
Dividers the li ment accurately.
(C'__ o construct the circle of
Compasses given radius.

To measure the angle.

Protr&)'r

|

Set squares

a) To draw and measure
the right angle. 2

b) To draw parallel lines
and perpendicular
lines.
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Activity
1) Discuss with your teacher how to use the geometrical instruments
accurately. Use them and construct different pictures.

Example : w - :

" “q- o i

ieacher to draw the
What difference do you
instruments used by you?

swon the black
¢ Instruments

A circle is a cloged p@ figure. All the B
points on the circle idistant from a
fixed point. This fix oint is called the A
centre of the cil@ In the figure, O is called | D

the centre 0&“ rcle. A is a point on the
circle. Itwthe e way B, C and D are also C

D in@ circle. We can mark any number

Circle

0 on the circle. OA is a line segment which joins the centre
e point A on the circle. OA is the radius of the circle.

i tivity : Join B, C and D to the centre of the circle. OB, OC and
| OD are radii of the circle. Measure their length using a scale and
write them. OA = .......... cm, OB = .......... cm, OC = .......... cm,




What do you observe from the above measurements ? All the
radii of a circle are equal. Radius is denoted by the letter 't'. In the
figure the radius r = ........ cm.

Observe :
e Every circle will have a centre and a definite measurement
of the radius.

e Centre and radius are not the part of a circle. They speci
the existence of the circle.

In this figure, X is the centreofithe circle.
Y is a point on the circle. XY is dius of

the circle and it 1s denote .
Radiusr=2cm

I. Complet ing using le answers
a) Thg ce’between th
centrcof 4 circle and a&n

on the circle is called.....%...
b) Inthe given A

1) Centre of' t rcle
IS oo pommpeee.

2) Radi f the circle is
reptesented by the line
\segment ..............
G adius of the circle
IS ceeeeeineen.

. Mark the correct statement by 'v' and false statement by 'x'

& §
—

a) Only one radius can be drawn to a circle ( ) b
b) Allradii of a circle are equal ( ) :
c) There is only one centre for a circle ( )




d) Inthe figure
(1) OC 1is the measure of the radius

( )
(i1) AB is the radius ( )

III. i) In each of the following figures, identify th
radius and centre.

X', how many circles are there ? Do they have the

i) In figure
;_‘%;:i; S‘a@] EEE oot

N | re (c), the length of the needle which is showing the
| ourf is the radius of ............. circle. "a

1Y) In figure (c), the length of the needle which is showing the ;‘
minute is the radius of ............. circle. :

v) In figure (d), which cow's rope will represent the radius of
the circle 7 .............
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IV. Measure the length of the radius of each of the following
circles. Write them in the given space.

e K

A
—
I
IR

i
=

truction of a circle of given radius

You have learnt to construct circles using compasses. Using only
compasses draw circles with different radii.

Now let us construct a circle of radius 2 cm.




Steps of construction 2
Step 1. Mark a point O, the centre of the circle.

Step 2. Keep the needle of your compasses and the edge of the
pencil on a scale as shown in the figure. So that radius =r=2 cm

K

Discuss with your %?
*  The conveni thod of holding

*  Precauti 0 be taken while ¢

3) Keep t fthe compas
posmo compasses, e

. Without changing the
ircle.

ol

O

rement of the radius on OP.

4) ii\?omt P on the circle. Join OP. Measure OP. Write the




Activity : Rita has to
construct a circle of radius
4 cm. But her scale is
broken. She has placed the
needle of the compasses on
the broken scale as shown
in the figure. As she has to
construct a circle of radius

by drawing a line on that point. °

4 cm, at which point she has to place the tip of the penc@gﬁ

1) Construct circles Mith
a)2cm b)2.4c

2) The students

rc'se 2 \‘\
the following r%

c)3.2cm d) 3@
ollowing fij ave to draw circles

3.7 cm

ents have placed the
they have placed the

with t adii. So t s
compa the scale a dyyn.
compas orrectly put W' if not put 'X'. Take correct

measurements and cg

truct the circles in your book.

Y

5cm




3. Mark a point O. With O as centre draw circles with radii
2c¢m, 3cm, 4cm, Scm and 6 cm.

Activity :

e Using your compasses, draw very small and very big circles and
find their radii.

e What is the measure of the radius of a very big circle that can b
drawn in your note book ?

e Construct circles on coloured papers having diffw.

Arrange them one above the other.

e Use your teacher's compass draw
circles of different radi

board and on floo

e By using threadgwire and measuring
f different

tapes const ircles

«©

\o' Can Puttu construct a circle with the instrument given by Kittu?
i e Can you construct a circle with your protractor ? How ?

oifnte
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Chapter - 8
LENGTH

After studying this Chapter you can,
o identify the length of objects used in daily life,
e compare the objects of long length with short length and fQj

the relationship between them,
e analyse and solve problems ef daily life s1tuat10n%ing

length.

\
Ramesh bought a cri wante e length of
the bat. He measured sing ha t was 4 times the

length of his hand span. His teammate Iso measured the
same bat w1th hi span It was 1/2 times of his hand
span. Ho \

Can sa w ct have 2 1 gths ? Then what is the
correct method of measuring len th ?

ave learnt how to measure the length
of various objects usingjhand span, cubit, fathom, foot span etc,
They are not st rd measurements.

The mea& ary when we use non-standard units. Hence, to
ac

know thg exact’length of objects we need a standard unit.

dard unit of measuring length of objects is 'Metre'.
18 s denoted by 'm'".

To measure long distances the standard units used are decametre,
hectometre and kilometre.

To measure short lengths, the standard units used are decimetre,
centimetre and millimetre.

|
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Let us know more about these standard units of length.

e

Usually the word 'deca’, 'hecto', 'kilo', 'dect', 'centi' and 'milli' are
prefixed before the word 'metre', This shows the place value of the
units which represents a part of a 'metre'. Hence, let us first know
the meaning of these units.

Standard units of Standard units of
greater length smaller length

l l Q/
1 metre 1 metre o %
Deca = 10 times 1= 1—10 arN\

Hecto =100 ti

flength with one metre.

= | decametre
100 times 1 metre = Qjo metre =
1000 times 1 me 000 metre =

Comparism&@aller standard units of length with one metre.

1 hectometre

1 kilometre

= 1 decimetre

= ] centimetre

= | millimetre

The common standard units of length used in daily life

10mm = lcm
100 cm = 1m

1000 m = 1km

]l cm =10 mm




Conversion of length from one unit to the other
To convert greater units of length into smaller units.
Rule :
To convert kilometre into metre, multiply by 1,000.
To convert metre into centimetre, multiply by 100.

To convert centimetre into millimetre, multiply by 10

Note : To convert greater u
we should multiply.
Observe the followin
Example 1 : How &Km ake 2 km
any centl a

= 1,000
= 1,000
Example @
1 metr 100 cm
. HQ)OO x4 =400 cm.
Example 3 : How %ﬂl limetre make 12 cm ?

1l cm =10 mm

12cm=10x%x 12 =120 mm.

To com&xﬂer units of length into greater units

of length into gm r Units,

000 m.

4 metre ?

eanert metre to kilometre divide the given number by 1,000.
convert centimetre to metre divide by 100.

To convert millimetre to centimetre divide by 10.

Note : To convert smaller units of length into greater units,

we should divide.




Observe the following examples.
Example 4 :Convert 3,000m to kilometre.
1,000m =1 km
. 3,000m = 3,000 + 1,000 = 3 km.
Example 5 :Convert 575 cm into metre.

100 cm = 1m
.o 575em =575+ 100 =5.75m.

Example 6 :Convert 400 mill;
I0mm=1

Activity 1

Using a mgtre
your class ¢

Activity 2

your class room and Writg in metres.

Activity 3 Q
Measure % gth of the room in your house and the length of

room using a measuring tape and write them as follows:

Length of Total Length Length in
the room in incm m

House

Class room




Exercise 8.1

I. Answer orally.

1)
2)
3)
4
S)

1)
2)
3)
4

5)

How many millimetres make one centimetre ?
How many centimetres make one metre ?
How many metres make one kilometre ?

How many metres make half a kilometre ?

How many centimetres make % of a metre ? WQ/
I1. Solve the following. $ %

Convert 573 cm

int
to kilometres.

Convert 138 L 5Scm iato millimet

Ra lis at a dist% 2,450m from her house.
Ex s distance ir&n.

The length of a grpund is 15 metres. Express the length in

Convert 1,37

centlmetresmzi
Problems involvi surement of Length

Example 1 X
The %th f shirt cloth sold by a merchant to a person is 5 m

colour and 3m 40 cm of white colour. What is the total
cloth sold ?

| Length of red cloth = 5m 40 cm
Length of white cloth = 3m 40 cm
' Total length of cloth sold = 8m 80 cm




Example 2

The grampanchayat started to construct a main road from their
office to school which is 3 km 300 metres away. It could construct
only 2 km 150 m of the road, what length of the road is le
unconstructed ?

Total length of the road to be constructed= 3 km 300 Q/
Length of the constructed roa = -2km
.. Length of the road left uriconstructed = 1 m

Example 3 %
The length of ired to make a r vase is 2m

30 cm. What 1 total ngth of wi red to make 9 such
vases ? Exp

th in metre
@r quired to %Q)’a =2m 30cm
ir

Length

. Total length of wire requir@d to make 9 such =2m 30cm X 9
@ vases

Q 18m 270 cm.

Here we shojul Vert 270 cm into metres

% e required = 18 m 270cm
+200 cm + 70 cm

8m+2m +70 cm (100 cm =1 m)

20m + 70 cm
= 20.7m.




Eample 4

5 labourers together purchased 9 m of cloth to stitch a uniform.
They divided the cloth among themselves. What is the length of
cloth received by each labourer ?

Total length of cloth purchased by 5 labourers = 9m
.. Length of cloth each labourer gets = Om=+35 Qj

Here convert 1.8m to cm m
I m=100 cm %
1.8m x 100 cm = %
Length of cloth &) er gets =
80 cm.
Activity 1 Q
@ gth and bre Q{e ational flag in your school

using a metr¢ Scale. Measure the breadth of each strip - saffron,
white and green and add i

Is the sum equal t cadth of the national flag ?
Activity 2

Measure ight and the height of your tallest classmate in
the difference in the heights.

centime
Q? Exercise 8.2
er Orally

The length of a wire is 3 m. What is the total length of 5 such
& wires ?

2) Out of a roll of cloth measuring 50 m, 17 m of cloth is sold.
Find the length of remaining cloth.




3) 24 mofcoloured ribbon is distributed among 8 students equally.
What is the length of ribbon that each one gets ?

4) How many centimetres are there in 9 metres ?

5) The length of a wooden plank is 19 m. Out of this 5 pieces
3 m each is cut off. Find the length of the remaining piece.

II. Add the following. Q/
1) 22m 71 cmand 14 m 3 “
2) 4km 230 m and 22 t\%
IIL Subtract the foll '“\o
1) 68m35c fr((;& 48 cm '\}'
2) 12km4%m 17 km 65
. @ ing. Q/
ength of a line seghent is 12 cm. Into how many line
segments of 3 cmgzh, can it be divided ?

2) Ravi bought length of pant cloth. He gave 1m 20
cm of cloth to Ris’'younger brother. What is the length of the

rem inioth ?
3) he&g of cloth purchased by John is as follows : 2m

cm for shirt, Im 20 cm for pant and 4m 80cm for coat.
t is the total length of cloth purchased by John?

4)*2m 80 cm of cloth is required to stitch a frock. What is the
length of cloth required to stitch 12 such frocks ?

5) Length of cloth required to stitch 6 pairs of Kurta and Pyjama
is 33 m. What is the length of cloth required to stitch 1 pair
of Kurta & Pyjama ?

RN
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6) The total length of 8 bundles of wire is 204 m. Find the
length of each bundle of wire.

7) The height of a table is 1m 25 cm and the height of a stool is
50 cm less than the height of the table. Find the height o
the stool.

8) A grampanchayat constructed a road to connect the v
and the main road. On the first day 3 km 460 m

constructed and 4 km 540m of road was constru
next day. What is the t%lgth of the rozli t cted ‘7

@‘b




Chapter - 9
PERIMETER AND AREA

After studying this Chapter you can,

Perimeter of rectangle and square

e explain the meaning of perimeter,

o find the perimeter of a rectangle by measuring its Qd

breadth,
gth and twiice %adth of
ectangle N\
\

e explain that the sum of twice
tangle by us formula,

arectangle is the peri

e calculate the peri

o find the perimetér of a

e calculate erofa squ@smg the formula,
Area of e and squ

e explain the meaning o

o find the area of z@(@ by dividing it into unit squares,
a

e explain that 6 rea’of a rectangle is the product of its length

are by meas its length

and brea&
o calmﬁebth area of a rectangle using the formula, 3

rea of a square by dividng it into unit squares,

1n that the area of a square is the square of its length,

f calculate the area of a square using the formula.

RN
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Length, Breadth and Perimeter of a rectangle

Observe the given figures. Compare them. Note the differences

in their measurements. )
Site R

b Black board c

1 m (breadth)

A 2 m (length) B

fig. 1

6 m (leagth
Fig1 (& g2 w
Length 2 m ; Leéngth 6 m w
Breadth 1m Breadth 4
Now le @ imilarities b@ the two figures.
1. The twes, have twﬁii nsions namely 'length' and

'breadth’.

2. Figures having
the two given figu

sions are called 'Plane figures'. Hence,
e called 'Plane figures'.
3. Figure 1 has4ides - AB, BC, CD and DA. Figure 2 has 4 sides
-PQ, Q P.
4. The mop site sides of a rectangle are equal in length.
1:@ AB=CD (length=/) BC = DA (breadth = b) £
& nfig2 PQ=RS(length=7/) QR = SP (breadth = b) @
fig 1, BC and AD are the two opposite sides equal to each

other (breadth). In figure 2 - QR and PS are the two opposite
sides equal to one another (breadth).

T A

6. These two figures are rectangles.




Let us observe figure 1

Black board
D <— c
ﬁ
l .
£

—
2 m (length)

BT A B
An insect crawls around the rectangular blackboa

edges, starting from point 'A' to péint 'B', from point' 'C'

from point 'C' to point 'D' a m point 'D' to and

completes one round. tal dlstan by the
insect ?
Can you find the t (%j covered nsect ?
foll

Observe the steps

Total dist d from pom

A—B

=2m-+ 2m+1m= —

Therefore distance coby the insect along the sides of the
rectangular black . The total distance covered in one
round of the rectan lack board is called its '"Perimeter’.

R
: o)
&l =
: 3 .-
(D] =
ar = :“_
3 2
8 .:1
<t {

P - 6 m (length)

Q

This rectangular site has to be fenced with barbed wire. To know
the perimeter of the site, we should know its length and breadth.




Raju, a worker starts measuring the site from point P to Q ;
QtoR; Rto SandS to P and records the total measurement of the
site.

Then, what is the perimater of the site ?
It is the measure of 4 sides of the rectangular site.
P->Q—->R—>S—>P

6m+4m+6m+4m=20m Qj
This is the Perimeter of the “
.. Perimeter of the site % %
This one round of %ent of thvxmr site is its
Perimeter.
From the above(t O(S!lples we comié\tovknow that :
o A recta stdes. The su % ides of a rectangle is its
'"Perim
X %

e Arecta two lengths d two breadths which are opposite
to each other, and equ measurement.

Penme% angle = (2 length + 2 breadth)
= (2/+ 2b) units.

Remember X‘I eter 1s always expressed in the units of length.

Exam ¢ (m), Centimetre (cm).

easure the length and breadth of the cover page of your
athematics text book using a scale and find its perimeter.

Activity 2

Measure the length and breadth of your geometry instrument
box using a scale and find its perimeter.

S S
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Example 1

The length and breadth of a rectangular room are 4m and 3m
respectively. Find the perimeter of the room.

Step 1 :

Given: Length=4m , Breadth=3m
Step 2 :

Perimeter of the rectangular room

= (2/+ 2b) units. 7
= 2X4+2x3)m ° %
= (8+6)m % \‘\
= 14m w
Example 2

A rectangular@arden m€asuring 10 d 8 m broad is to be
fenced 4 ti ith\barbed wire. Find
required ? @ .
Step 1: &

length of the barbed wire
Given: Length=10m , Breadth=8m
Step 2 :
Perimeter of the redtanigular garden

= Q1+ b@'xts. 8m
= (2x &) m

= (20+16)m 10m

ength of barbed wire required to fence the garden 4 times la
= 4 Xperimeter
= 4x36m

= 144m




s e

b o

Exercise 9.1
I. Answer oraly :
1) What are two dimensional figures called ?
2) Name the two dimensions of a rectangle.
3) How many pairs of opposite sides are there in a rectan@

4) How are the opposite sides in a rectangle ?

its length and breadth ‘7

I1. Find the perimeter, %l wing pi

153 cm

5) How many times is the p eterof a rectangle % stm of

92 cm




III. The length and breadth of rectangles are given below. ﬁ
Find their perimeters.

M@ @ |G| ®) (D] ®)])]|10)
Length(incm) |2 [ 2 [ 3 |5 |53 |4 |5 8|7
Breadth(incm) |3 |4 (4|4 |26 | 6| 6| 6|9

Perimeter

IV. Solve the following : .
1) A rectangular roo easurgs 6 m in %@ 4 m in

breadth. Find t e r'of the r

ield has'a length of, d breadth 120m.
Find the

eter Of the field.

3) A rl garden meaﬁ‘Qm in length and 50 m in
breadth=tind its perimir e’garden has to be fenced 5
rounds with barbed, w
required? Qj

4) An auditorhmasures 80 m in length and 30 m in breadth.
If th w@of the auditorium have to be decorated with
colo% tings 4 times, find the length of buntings required.
I%f cost of Im of buntings is X 15, what 1s the total cost of

ebuntings used to decorate the auditorium?

ird, what is the length of the wire

eRv-

Srilatha, during her morning walk goes round a rectangular
i park 3 times. If the length and breadth of that park are
[;‘ 320 m and 210 m respectively, calculate the distance she has

e

i covered.




Perimeter of a Square

Rahim has a hand towel. He measures the length and breadth
of the hand towel. He finds that both length and breadth measures
40 cm each. He draws a figure of the hand towel with length
and breadth 40 cm each. Since both length and breadth are same,
writes as length and length.

1)
2)
3) &i
Rahim measures all the four sides. He starts measuring from
point Ato B ; B to £ ; and D to A and adds it up.
The total length e square hand towel
=A—>B

40cmx\ +40 cm + 40 cm = 160 cm
gth of all the 4 sides of the hand towel = 160 cm

1.e., the fotal 1

This nd of total length is the 'perimeter of the square'.
‘c the 4 sides are of equal length of 40 cm each. We can
he perimeter in the following way.

f Perimeter of the Square =4 X /= (4 X 40) cm
=160 cm
.. Perimeter of a Square = 4 X length = 4/

RN




Activity 1:
Collect pictures which are square in shape found in nature and
find their perimeter.

Activity 2 :

Take different coloured papers, cut squares of side 5 c
6.5 cm, 7 cm and 7.5 cm. Paste each of them in the drawing
and find their perimeter.

Example 1 m
The length of a square play d is 80 m. i%%rimeter.
Length of the play %8 m \
.. Perimeter of (;%1 nd = (4@%
m
Example @ @
er

Find the p r of the given figure.

N

©

\' 32 cm

ch of the square = 32 cm.

i

erimeter of the square = (4 X /) units. i

4 x32 cm
=128 cm
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Example 3

A square playground measures 75 m in length. Rita runs
5 times around the playground. Find the total distance covered by
her.

Given
Length of the playground = 75m
Number of rounds Mary runs = 5 rounds Q/
.. Perimeter of the Square = (4xI) u%m

Perimeter of the playgrounds=s < 75 = 3 H\
Rita covers 300 m in on K.
.. Total distance she goyers rounds w
— 300 m <f5 = 1500 . ,\},

Exercis
I. Ans @ :

1) Mentiomrthe two dimensions of a square.

2) How many equal sidgg'are there in a square ?
3) How many tir%h erimeter of a square to its length ?
maéter of a square of length 5 cm ?

4) what is the peri
II. Find t Qmeter of the following pictures.

=
1) .
<
p—

!

SONGS

&

50cm

(@)




52 cm

III. Lengths of

Find
]
(1) ©) [ (D] ®) ) |10)
M fth
length i cm 1]18]25(30 4155|639
Perimeter of the

square
IV. Solve t Qowing problems.

1) Th ength of a square room is 15 m. Find its perimeter.

runs 4 times around a square park of length 85 m. What
e total distance he covers ?
The length of a square room is 16 m. The walls of the room
should be tied with coloured buntings 4 times. Find the total
length of buntings required.




4

Rashmi's paper

Area of a Rectangle

4 cm

Rita's paper

3cm

6 cm

Rashmi and Rita are cl
coloured sheet of paper

Seeing Rita's pape
hence the size of h

Then Rita o

of each papet

@~ paper is bigﬁr @Z

8 cm
atcS§Each one ﬂ‘ ought a
er flowgrs
D

s her paper q er than Rita's,
is bigger than Rx' paper.

her paper is longer
er in size than Rashmi's

er paper is &

? How to find out the size

To find whose paper i@iﬁger, we have to find the whole space
occupied by the pa

With the help of a\scale make 6 equal parts of the length and
4 equal parts obreadth of Rashmi's paper.

Similarly;na
the breadth o

8 equal parts of the length and 3 equal parts of
ita's paper. We get the figures as follows.

Rita's paper

3 cm

D e

JAS LRSS
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Observe both fig 1 and fig 2. There are several squares in each
paper. Measure the size of each square. We find each square is of
lem length and 1 cm breadth.

The length of 1 unit X breadth of 1 unit makes one square unit.
Here, it is lem X 1 cm = 1 square cm.

One square unit = 1 unit length X 1 unit breadth
= lecmXx 1 cm

= 1 squar

The product of two e sions o @umt is
called square unit.

quates in fig 1 4 squares.
shmi'$paper 1

Though the length an dth of the papers of Rashmi and Rita
are different, the sp ied is same.

Count the numb

In the same to find the total space within the rectangle we
have to divide i equal number of unit squares. The number of
unit squares

t in a rectangle is the total space occupied by the
e §pace occupied by a plane figure is called its 'Area’.

R

is not possible to find the area always by dividing the rectangle
ito equal number of squares, as the numbers given might be big
and it consumes more time.

JAS LRSS

Observe the figures 1 and 2 where the area is already found.




Notice the length and breadth of fig 1.
Length of the rectangle = 6 cm

Its breadth =4 cm

.. Area of the rectangle = ?

Let us multiply length and breadth
Area of therectangle = /X b

= 6.cm X4 cm =24 (cm)? Qj
= 24'sq cm = 24cm?
In the same way observ length and brea K‘

Length of the rectan

Its breadth
". Area of th tangle’™= ?
Letus and brea
8 cm X '@24(cm)2 vj
=24sqc ﬂ

Thus when we u1t1p1 th length and breadth, we get the area
of a rectangle. ‘m

Area of a rectang (I X b) sq units.

.. Area igalways expressed in square units.
NoteX{ Squdfe metre - sq m
uare centimetre - sq cm

Take a sheet of plain white paper. Measure the length and breadth
- ofthe paper. Then divide its length and breadth into equal number
of squares. Colour each square with different colours. Count the
number of squares. Write the area of the paper.




Activity 2 :

Measure the length and breadth of the first page of your maths
text book and find its area.

Activity 3 :

Measure the length and breadth of the top surface of the table 1
your class room and find its area. Qj

Example 1 :
The floor of a rectangular ro%measures 4m ngle%m 3m
in breadth. Find the area of

Step 1:

Given : Lengt %

Br

Step 2 : Ar r = (Ix 1ts
@ = Q}/ 12 (m)?
ﬁ;q m
Example 2 Qj

The length and b#eadth of an auditorium are 10m and 8m
respectively. HoWy many slabs of stone measuring 2m X Im are
required to e floor ?

Step 1 :)Givenw.
e &he Auditorium = 10m
r@ Its breadth = 8 m
Size of the stone slab = 2m X Im
ep 2 : Areaofthe Auditorium = (/X b) sq units
10 m x8m = 80 (m)?
= 80 sqm
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Step 3 : Area of the stone slab = (/ X b) sq units
= (2x1)sqgm
= 2 sq m (m?)
Step 4 :

: A f the fl
No. of stone slabs required to cover the floor = rea of e Hoor
Area of the stone s

40

cise 9.3 n\‘
I. Answer the followin
1) Whatisthe Gnit of area ? Q
2) Wh ¢'space w1thm§ &1 dary of a plane figure called?
nit

3) What is the area o

quare ?

II. The rectangles below are divided into squares of unit
length. Find_their “areas.

1) 2)

4x3 = 12cm?




3)

) %&\,

5) C“

1. Thﬁ:g\{ and breadth of the rectangles are given below.

te their areas.

MA@ |G| ©) (D@ (9)|10)
\kength(incm) 2123|553 (4|5|8]7
5 Breadth(incm) |3 |4 | 4|4 | 2|6 |6 6] 6|9
;E_:I Area




IV. Find the area of the figures given below.

153 cm

60 cm

90 cm

Luﬁ :‘

L;:]Jll. ¢
LpIN 5 I |
-Goag’

V. Solve wing proble
as arectan :QM length 250m and breadth

ind the area the land.

A carpet is nee@to cover the entire area of a room. If
the lengtm om is 16m and breadth 5m, find the

area of the et required.

=
o

3) An, auditorium measures 25 m in length and 18 m in
7 How many slabs of stones of 3m X Im are
2 Yqu ed to cover the floor of the auditorium ?

@ rectangular plot's length is 25m and its breadth is 15 m.
Find the area of the plot. If 1 square metre of the plot
costs ¥ 250, what is the total value of the plot ?

5) Arectangular room's length is 20m and its breadth is 11m. :
How many tiles of 2m X 1m are required to cover the |
: floor of the room ?




Area of a Square

)
@)

5 cm (length)

"’%@

. \
<Mgth)
Observe the gi e(%
It has 2 di ions of equal lengt
lengths ar hed we get the area of a
square (re ‘areaofar X b).

Aréa of the Sq@ (l X 1), square units

Now observe the f the figure.
length of the sq S5cm
. Area of@square =[x
=5 % cm =25 (cm)?
25 sq cm
ivity 1
; ith the help of a scale draw a square of length 5 cm. Divide

the 4 sides of the square into 5 equal parts. Squares of 1 unit is
formed. Count the number of square units. Compare the square
units with the area of the figure. Write your conclusion.

s e

b o




Activity 2

With the help of a scale draw a square of length 6 cm. Divide
the square into equal parts of 1 cm each. Colour each of the square
units with different colours. Count the square units and write the
area.

Example 1

The length of a square floor is 4m. What is its are WQ/

Step 1 : Given : Length of the r=4m

Step 2 : %
Area of the floor = \‘N
)2

= 4dm X 4m =
= 16sq
Example 2 %
Thel a‘table tennis is square in shape is 9 m.

The ﬂoor hall is to be overed with granite stones each
measuring 3m X Im. How Qiny anite stones are required to cover

the floor of the hal
Step : Given :

Length of ﬁ all = 9m
Size of& anite stone = 3mX lm

Step 2 ¢ 5

Areaofthehall = /x !

= 9mx9m = 81 sqm

p3: ;
Area of 1 granite stone = [X/

=3mXxIm = 3sqm
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Area of the hall
Area of the granite stone

No. of granite stones required =

27
_ 3 Sgi _ :
= FSgem 27 granite stones

Exercise 9.4

I. Answer orally.

1) What is the total s in the bounda %»square
called ? ‘K%
ifof ar

2) What is the

a square ?

elow.

|;..—
ne
=5
i
=
[ 4
B

T




III. The measure of one side of the squares are given below.

Find their areas.

M@ [C|E@B [ [(7)|(®)O)|(10)

Measure of the side
ofasquare (incm)| 3 | 5 [ 11 [ 18 | 25|30 |41 | 55| 63 |92

Area of the Square

1)

4m
55m
45m
45m
55m

IV. Solve the following problems. w
1) The length of a square is 6 m. What l‘%e of the

floor of the room

aper is 21 ¢ XIS its area ?

3) The lengt uar€ canvas clot m. Find the area
of the c

4) The quare room ow many granite stones
of re requlred t the floor of the room.

5) Th of a squar 1s 400 cm. How many square

tiles of 10 cm in gth re required to cover the floor of

the room.
VII. Calculate thﬁlea of shaded portion.

>.0m
2 m 2m
\\ 45m

2 m 2 m 45m

55m




Chapter - 10
DATA HANDLING

After studying this Chapter you can,
e collect information and interpret the data in tabular form,
o represent the data graphically,

e represent data through pictograph and bar graph, WQ/

o take suitable scale to draw the\graph,
°

e know the need for a scalggto ken to dr gﬁ
ph.

e explain the steps to ed while drawj
In the previo gla es you have learat to/collect data and
represent the same throught pictographand\bar graph. Let us see a

few example ‘
Example @ Qj

'\-j

Here is a picture of birds in an album.

Asha counted the number of each type of bird and made a tally for
each bird as shown in the table.




BIRDS TALLIES NUMBERS
Peacock Pe1l 5
Parrot | 6
Eagle I 2
Pigeon I 4
3

Sparrow [ Q/
This helped her in counting eacjf type of bird quickly msem
this data through pictograp N
Here is the pictori ation.
Name of thﬁ, i NumBie birds

| .

Pe@ 2 !
Parrot Q/ A = ﬁ‘
\O A AR

P A
B

Sparrow & . 5




Example 2
Observe the picture given below. Toys are displayed on the shelf.

The numbe@eacype of toy 1s counted by marking tallies.

Note the en& ade in the table.
Name o lthe toy Tallies Number
Dol T | 6
Bat iyl 5
i Ball T 5
“ Balloon Nl 8
Ring i 4




The same information can be represented pictorially as follows :

Name of the toy Number of toys

Doll

Ball

(&
‘er (Y

Ring QQJ O O O O

Exampl&3

% er Mrs. Stella asks the students of class V to tell their
e of travelling to school every day. She put a tally mark as
ch of the students answered and prepared the following table.




Mode of Tallies Number of &
transport students
walk M M 15
bus m M 10
van 7 (I 10
bicycle I 05

The number of students are large in number. Hence, it t Qe
time to draw so many pictures. o
mboljto represew ts.

She decided to draw o
S tudents

Let % re

Mode of transport udents

Walk© %Q/ %
- 0g g
AR I

Numbe

eRv-

AT




Example 4

Rahim buys fruits for his mother on her birthday. He picks up
various kinds of fruits from the fruit seller. He prepares a table for
the data about the number of fruits bought.

Name of Tallies Number of
the fruit fruits

Banana | M1 W1 W1 I I 24 Q/
Orange

Apple

Mango

Name of the fr of fruits

g—
—4—..&—‘.4
///

Banal@ / Zyﬁ 74

Orange “Q/O o0

"™ x0
Ma%\

en the number to be represented is large, we choose a
symbol to represent a certain number of objects.




Example 5

The following data shows the number of pens sold by a
shopkeeper during the first five months of a year.

Months Number of pens
January 35
February 25
March 40 Qj
April
May y

The same is represe l’o/ws thr aph
Scale : Let one 1e régent Y pens.
Number4gf pens sold

¢ /4

SN/
0 Y /4




Note : Divide the quantity of each item by the scale taken to get
the number of symbols to be written or drawn.

In example 5, we have obtained the values as follows.

35+5 =
25 = 5 =
40 = 5 =
30«5 =
20 + 5 =

7
5
8
6

4

Interpretation of a pictog

Example

1. The follow1i

&
&

AW

shows the @ of students present
ts during t .

ing pictog
in a class o
Da ] Number of
@) ﬁ%\ = SQJ ts students present
Monday 55 ARG/ m%m%\ 30
a
Tuesday . f ﬁ%\ ﬁ%\ 25
Wednesd /%\ /%\ 15
7 f 7 ::;
n RERRRR8 ¥
vy 19888 »
Saturday /%\ /%\ 10
i i




Study the pictograph and answer the following questions.

e On which day were the maximum number of students present ?
e On which day were the minimum number of students present ?
e How many students were present on Monday ?

e What is the difference in the number of students prese
Tuesday and Friday ?

e How many students were a on Wedne%%

.....

Each a stands for 2 books.

- ¢” Number of Science books read |:|
e Number of Kannada books read |:|
e Number of Adventure books read |:|




o B v s JETL e L Ty o B e B e e b S e R g b o' I PR D T
I R T e e S S B T T T e S L e T e R R SRS e b S Sl
A
Ry

&

e Number of novels read |:|

e Total number of books read |:|

2) The following pictograph shows the number of cars in 5
villages of a taluk.

Villages % =5 Cars

Village 1

Village 2

Village 3

Village fC

Village 5

Observe the pictogr and answer the following questions:

Which vi as the maximum number of cars ? |:|

[ ]

o Whigh village has the minimum number of cars ? |:| 3
= T
| : : : &
e \@ is the total number of cars in five villages ?[ |

ow many more cars are there in village 3 than in village 5 ?
[ ] ;

e Which two villages have the same number of cars ?[ |




3) Ramu had 5 pens, 3 erasers, 6 books, 2 pencils and one Kq
sharpener in his bag.

Write the data in tabular form and represent the same through a
pictograph.

Name of the article Number of articles

A

Name of the le Pictogta

@$ Y

3) The number of bulb nufactured in a week by a factory
is given below. pictograph to represent the data.
(choose a suitab ale)

Days of thg week Mon | Tue (Wed | Thu | Fri | Sat
Number of)bulbs 50 [ 40 | 60 | 20 | 30 | 40

nufactured

SEED
ot~

B ph : Study the given examples.

xample 1 : The marks scored by Rajeev in the annual examination
aye as follows.

0 R PN

Subjects| Hindi | Kannada | English | Science | Mathematics | S.S
- | Marks | 60 80 40 | 90 70 50




a0
a0
70 =
6f
,ﬁ 50
30
20
® " Hindi  Kan S Maths S S
Study the type of graph/rawh.
Here, the data is repr@sentcd in columnmrawing vertical
rectangles with uni oﬁace between t@'
Example 2

Marks@ girls in ma cs is given below.
Ma ¥ /Devika 1 Zahira Rashmi

30 50 0 70 40
Study the type of %en here.
R i

o LK =] zo 30 “o S0 o o

Marks Scored



The data is represented in columns by drawing horizontal
rectangles, with uniform space between them.

The representation of data in columns by drawing vertical or
horizontal rectangles with uniform space between them is
called a “Bar Graph’.

Exemple :

The following bar graph shows the sales in a baker a
day. I

10 ‘b% \0\'@‘

|

uits
Cakes

Buns
Bread

100

0

5 Chocolates

[tems

e Whatis @Qbrmation given by the bar graph ?

- e Whatis the'sale of buns and cakes ?
; em has the maximum sale ?
o :@h item has the minimum sale ?
- \e "Bar graph represents the relation between sales in a baker's items
i and the rupees.
- e Sale of bun is the more sales compared to cakes.

e Chocolates item nos the maximum sale.
e Biscuits item has the minimum sale.




P B s S B e R S 3
|

Example 2

Marks obtained by Aziz in a half yearly examination in different
subjects is given below.

Observe the bar graph and answer the questions.

80
7o
wn
M 50
5 . x\i
> P ®
+ W8 N
g
s
2 M,
to l g
1

: ubjects
. i %Oﬂ given i r graph ?
o t ¢ subjects a cored in each of them.
e Subject in whicl%iz as scored the highest marks.
h h

e Name the subject in whic

e Namet
has scored the least marks.

Example 3 Qﬂ
Study the bar graph and answer the following questions.

SO
No. of co;l?ﬂﬁ
88 % %
1o L N

m
m.

-Monthly Magazines




e What information is given in the bar graph ? ..........cc.cccueenn.
e Mention the scale taken in this bar graph. ...........cccecvveeennnnnn.
e Write number of magazines sold in each language.

Kannada Telugu Marati

English Tamil Hindi

e Mention the total number of magazines sold.
e Arrange the number of copies of magazines sold 1 t

languages in the ascending @

Note : ¥

1. Draw two lines ertiéal and the othe izontal such that
they intersect afjright angles.

2. Take equal s on the horizon o draw the columns.

3. The co}aa)’an\w d be of equalythicknhess/width.

e On thé\r\e;jjaf line, make| e visions to represent the
numerical data given.

e Choose a suitable sca
Give a title for the

[ C .
3) Read tl@raph and answer the given questions.

3

IR EE RN
First day

o
o

Second day
Fifth day

Earning of florist in rupees

° 3




What is the information given in the bar graph?

[ ]

e Mention the scale taken.

e Mention the earnings on each day.
First day Second day
Third day Fourth day

Fifth day QJ

e What is the total earnings in five days?

e What is the difference 1 unt earne n. ﬁ%ond day
and the fifth day ?

e Arrange the amo

Weeks

| 0 First week =
E: o 160 a2es 360 Aon Son Goo Toe %00 goo Leso i"
Number of saplings planted by a farmer &

e What is the information given in the bar graph? .....................
e Mention the scale taken. ......................
e Mention the number of saplings planted in each week.




First week Second week Third week

Fourth week Fifth week

e What is the total number of saplings planted in the five weeks ?

]

e In which week did the farmer plant the maximum number

saplings ? |:|

e In which week did he plant the minimum number

3) Asurvey of 120 scho as done t act1v1ty
they prefer to do i their free time.
Prefenﬁ& activi Numb% dents
ing story books Q/ 30
tching T.V. ﬂ 20
Listening to © 10
ool ©

Draw a bar grap E o illustrate the above data.

scale : 1 cm

dents

Which a&vl preferred by most of the students other than playing?

umber of belts sold by a shopkeeper on six consecutive
ays of a week is as follows.

—.-1] Days Mon | Tue |Wed | Thu | Fr1 | Sat

Number of belts sold 20 | 30 | 45 35 125 | 20

1 A

WL, |



Draw a bar graph to represent the data.
scale : 1 cm =5 belts
What is the total number of belts sold in 6 days ? |:|

6) The following table shows the number of bicycle
manufactured in a factory during the year 2005 - 200
Ilustrate the data using a bar graph.

(choose a suitable scale)

A N\a
Year Number 80168 manufa

2005 % 800

2006 4 600 w

200
‘200§ Q j
9 ﬂ 700
/a |
a) In which ye &Jthe maximum number of bicycles
manufactyured

b) In Wszi ear was the minimum number of bicycle




Answers
Chapter -1  Exercise 1.1
I. 1)45,618 2) 82,003 3) 13,709 4) 94,314
L. 1) 1x10,000+9x1,000+2x100+0x10+3x1
2) 7x10,000+7x1,000+7x100+7x10+7x1

3) 3><10,000+8x1000%100+9x10+ W

IV. 1) 72,838  2) 40,0 17 4)1
V. greatest number, %al]est nu%
1) 97,431 @
2) 86 68
3) 76 ﬁ ,36
4) 76,540 QJ
5) 75,432 23,457

VL. 1) 57& 840 2) 18,376, 18,377
40,780 4) 88,889, 88,891 5) 13,584, 13,585

6&644 23,744 2) 75,790 95,790
3) 58,888 48,888 4) 33453 42,453 §
5) 70,600 74,600

VIIL 1) 20,411 30435 40,623 70,533




2) 40,044 40444 44,044 44444
3) 63,148 63,184 63481 63,841
4) 50,006 50,060 50,500 55,000
5)20,302 20,325 20413 20,825

IX 1)45,678 34,567 23,456 12,345 Q/
2) 45,604 45,064 40,564 40,456 “
3) 13,244 12,344 %
477,777 7%&
5) 62,134 % 21,364 %
X.
apter - 2 se 2.1

I. 1) 68 2) 89, 796 4)75,766 5)76,869

o 1)90,520 2)61,1 80 028 4)44,359 5)67,655

1 1)40,601 @ 3) 29,784 4) 42,862 5) 66,134
Chapter -3 Exercise 3.1

L. 1)25 3 )22,161 3)25,272 4)21,464 5)14,051

I. 94 2)14,447 3)23457 4)18,888 5)11,375

g 2)16,088 3)21.579 4)15317 5)6.738
‘%@és 697 2)38274 3)37339 4)8823 512333
Exercise 3.2 i
L 1)39.809  2)20,533  3)46,669

. 1)15341  2)T 10,855 3)319,472  4)24,625




1)

2)
4)
6)

7)
8)

Chapter - 4 Exercise 4.1
Multiples of 4 are 4, 8, 12, 16, 20, 24, 28, 32, 36,40, 44, 48, 52,
56, 60, 64, 68, 72, 76, 80, 84, 88, 92, 96 and 100.
Multiples of 6 are 6, 12, 18, 24, 30, 36, 42, 48, 54, 60, 66, 7
78, 84, 90 and 96.
Multiples of 9 are 9, 18, 27, 36, 45, 54, 63, 72, 81, 90 and

7.14,21,35.42  3) 12,24, 36, 48, 60, 72
52, 54, 56, 58 5) 60,75, 90 $\\J
[ ]

5 Multiples of 15 are 1 0 and 75¢
, 68 an

, 57,76 an

, 46, 69, 92 4nd\L15.

GV

Any two Tactors of 18 are 2%and 9.

Any two factorg of 28 are 2 and 14.
Any two factorsv re 3 and 12.
Any two factors of*42 are 2 and 21.
Any tw of 48 are 2 and 24.

Note,: The jother answers are also possible.

heJfactors of 9 are 1, 3 and 9.
¢ factors of 13 are 1 and 13.
11 the factors of 20 are 1, 2, 4, 5, 10 and 20. }

All the factors of 26 are 1, 2, 13 and 26.
All the factors of 40 are 1, 2, 4, 5, 8, 10, 20 and 40




Chapter - 5 Exercise 5.1

L. (), (o)
1 2 2 5

SR BN S N C
3 8 3 ) 5 D7 )

4) a) Two-fifth b) Three-fourth  c¢) Seven-tenth

d) Eleven-twelveth  e) Two-third f) Four-fifth

g) Five-eighth h) Three-seventh 1) Five- S%
1) Seven—nineth
5) a) % b) Z %
6) a) 8 b) 2 nator ator
e) numerat %ﬂ
7) a) < ) 3

9) a) 4
: Q/
10) -
12) fig 2, ﬁg 6, fig7
13) fig b and d. 5 objects of 12 are shaded
2 4 3 5
14) a) 10 ) 7 15. a) ? b) 7 C) z

Q Exercise 5.2
(1)>(2)<& > (5)>(6) < (7)< (8)<(9)>(10)>(11)>
(12) >

O Exercise 5.3

Ty @ 8 R URER

g 9 14721 #2
. L o, 8 10 2) 9,12 15 3)27,36 45

1520 25 24’ 32" 40 33" 44’ 55




2) No

- o —

- T

3) No
12
3) 31

4) Yes
48
4) 84

Exercise 5.4

=~ Qjw

\o|m \o|t\J \III\J
<0

— is closer to 1.
1s close to

1s closer to

O

i 1s closer to i

Q
@“‘

2°

l\)l»—*

ter - 6 E
4) ertex

+ acute angle

0 =right angle
) 180° = straight angle
a) 90°=right angle
¢) 150° = obtuse angle
¢) 130°=obtuse angle
7) a) 3) 178°

III. 1) Yes

IV. 1) 2)

1 1s closer to — 1

. 1

2. 1s closer to % ;=
is closer to % ;=

e

1 : ;

I. 1) > 2)
6) =
4

i"!

a d DC
LK and LM
US and UT
— —
QP and QR

Exercise 6.2

b) 95° = obtuse angle g
d) 32°=acute angle |
f) 103° = obtuse angle
b) 30° = acute angle '
d) 105° = obtuse angle

b) 2) 4,15, 10




3)

II.

II.

IV.

I11.
IV.

1) 20m  2) 540m  3) 260 m;1,300m

Chapter - 7 Exercise 7.1

a) radius b)1) O 2) OA 3) 2.5cm
a) 2.4 cm b) 1.6 cm c) 3.6 cm d) 2.9 cm

Exercise 7.2
a) Scale, Compass b) Scale c¢) Scale, Set squares

d) Scale, Protractor

Chapter - 8 _AExercise 8.1 N\;
1)5.73 m 2)1.378 3) 151504mn %

4)2.450 km 5)

(&E‘)‘(‘ cise 8.2 “
1)37m 01 c 2)2 510 m '0'
1) 7m 13 cn km 225 m
1)4 @ 2)2m4 @ 3) §m 20 cm
4) 33 ’ 5)5.5 & 6)25.5m

7) 75 cm 8)

mer -9 Exercise 9.1

1) Plangfi 2) Length and breadth
3) 0&5 4) Equal 5) Twice
a m b) 168cm ¢) 550cm d) 18 cm e) 344 cm
cm 2) 12cm  3)14cm  4) 18cm 5) 14cm
) I8cm 7) 20cm  8) 22cm  9) 28 cm  10) 32 cm

4) 880m ;< 13,200 5) 3,180 m




II.

II1.

IV.

II.

III.

IV.

II.

III.

. 1) 36 sqm 2) 441 sq.cm 3) 225 sq.m

Exercise 9.2
1) Length and Length ~ 2) 4  3) Fourtimes 4) 20 cm
a) 56cm b) 200cm c¢) 208 cm d) 180 cm e) 140 cm
1) 12cm  2) 20cm 3) 44cm  4) 72cm  5) 100c
6) 120cm 7) 164cm  8)220cm  9) 252 cm 10) 368 ¢
1) 60m 2)280m 3) 120m 4) 1,360m 5) 25

Exercise 9.3 m
1) 12 sq.units 2) 15 gg.units 3) 24 sq.units
4) 21 sq.units 5)3% sq.units ’\‘%
1) 6sq.cm . ) 12 s¢' ) 20 sq.cm.
Sq

2)
5) 10 sq.cm & 7) 24 sq 8) 30 sq.cm.
9) 48 sq.c 0) 63sq.cm. '60
a) 6,30 c ) 1,440 sqg’ c) 18,666 sq.cm
d) 18 e) 75% :

1) 45, ‘m  2) 80N\gm 3) 150

4) 375sq.m ;X 9,372} 5) 110
xercise 9.4

a) 2,704 S(G b) 2,500 sq.cm

1) 9sq.c 2) 25 sq.cm 3) 121 sq.cm
sg.cm 5) 625 sq.cm 6) 900 sq.cm

5,681 sg.cm 8) 3,025 sq.cm  9) 3,969 sq.cm
0) 8,464 sq.cm

4) 32 5) 1,600
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